- e B RS B A E R B
X 2 7 7 4 L E B & = @ Prpre SH6E
wmEXD (7741 % |  RTFER  |RERE T B | areons RFHFT 77 A e E | REBMORSE E | ShOTER)
Al3]2|0]3|EEERE RO4 3|4 | R7.12.31 | EZ |BBEAFvExy +| R411 | R5.1.1 iy
Al3]2|0]3|EEERE RO5 3|4| R8.12.31 | EZ [BEAFvExy +| R5.1.1 | R6.1.1 iy
Al3]2|0]3|EEERE R06 3|4 | R9.12.31 | EZ |BBEA*FvExy +| R6.1.1 | R7.1.1 iy
Al2]10]|0] 1| AEEHHEMNZR HO9 30( &£ | R13.12.31 | BE%E |EIBEA* v Xy b H14.1.1 iy
Al2]10]|0]| 1| AEEHHEMNZR H13 30( &£ | R13.12.31 | BE%E |EIBEA* v Xy b H14.1.1 iy
Al2]10]|0]| 1| AEEHHEMNZR H14 30( £ | R14.12.31 | BEE |EIBEA* vy b H15.1.1 i3
Al2]10]|0]| 1| AEEHHEMNER H15 30( &£ | R15.12.31 | BEE |EIBEA* v v b H16.1.1 i3
Al2]10]|0]| 1| AEEHEMNZR H16 30( £ | R16.12.31 | BEE |EIBEA* v Xy b H17.1.1 i3
Al2]10]|0]| 1| AEEHHEMNZR H17 30( &£ | R17.12.31 | BE%E |EIBEA* vy b H18.1.1 i3
Al2]10]|0]| 1| AEEHHEMNER H18 30( &£ | R18.12.31 | BE%E |EIBEA* vy b H19.1.1 i3
Al2]10]|0]| 1| AEEHEMNZR H19 30( &£ | R19.12.31 | BE%E |EIBEA* vy b H20.1.1 i3
Al2|10]|0]| 1| AEEHHEMNER H20 30[ £ | R20.12.31 | BEE |EIBEA* vy b H21.1.1 i3
Al2|10]|0]| 1| AEEHHEMNER H21 30( £ | R21.12.31 | BEE |EIBEA* vy b H22.1.1 i3
Al2]10]|0]| 1| AEEHHEMNER H22 30(F£| R22.12.31 | BEE |EIBEA* vy b H23.1.1 i3
Al2|10]|0]| 1| AEEHHEMNER H23 30( £ | R23.12.31 | BEE |EIBEA* vy b H24.1.1 i3
Al2]0[0]| 1| \EEgBMNER H24 30( | R24.12.31 | BEE |EIBEMA* v X v M| H24.1.1 | H25.1.1 i3
Al2|0|0| 1| \Z=EHHE %ui% H25 30( | R25.12.31 | BEE |EIBEMA* v v b H25.1.1 | H26.1.1 i3
Al2|0[0]| 1 [ AEE2FBNER H26 30( | R26.12.31 | FEE |EIBEMA* v 2 v M| H26.1.1 | H27.1.1 H®
Al2]0|0]1 A%i%ﬂﬁ% = H27 30( | R27.12.31 | BEE |EIBEMR* v v M| H27.1.1 | H28.1.1 H®
Al2|0|0]| 1 [ AEE2FBNER H28 30( | R28.12.31 | FEE |EIBEMA* v x v M| H28.1.1 [ H29.1.1 H®
Al2|0|0]| 1 [ AEE2FBNER H29 30( | R29.12.31 | BEE |EIBEMA* v v b H29.1.1 [ H30.1.1 H®
Al2|0(0]| 1 [ AEE2FBNER H30 30( | R30.12.31 | BEE |EIBEMA* v X v b H30.1.1 [ H31.1.1 H®
Al2|0(0]| 1 [ AEE2FBNER RO1 30( | R31.12.31 | BEE |BIBEMA* v v M| H31.1.1 [ R2.1.1 i3




Al2|10|0| 1 [ AE=EBEMEE R02 30( | R32.12.31 | FEE |EIBEAF v 1 R2.1.1 R3.1.1 i
Al2|10|0| 1 [ AE=EBEMEE RO3 30( | R33.12.31 | FEE |EIBEAF v 1 R3.1.1 R4.1.1 i
Al2|0(0]1[AE=EERMER RO4 30( | R34.12.31 | FEE |EIBEAF v 1 R4.1.1 R5.1.1 i
Al2|0(0]|1[AE=EERMER RO5 30( | R35.12.31 | FEE |EIBEAF v 1 R5.1.1 R6.1.1 X
Al2|0(0]1[AE=EERMER R0O6 30( | R36.12.31 | FEE |EIBEAF v 1 R6.1.1 R7.1.1 i
Al3]2]|0|2[BEXREL— RO5 | F FRZE [BIERAF* rEx i
A[510| 1|1 [gEHE R0O4 3|F| R7.1231 | BZE [WBEFvEx R4.1.1 R5.1.1 i
Al[510| 1|1 [EHE RO5 3|F| R8.1231 | BZE [WBEFvrEx: R5.1.1 R6.1.1 i
A[5]10|1|1[rEEsE RO6 3|F| R9.12.31 | BZE [MBEF vrEx R6.1.1 R7.1.1 i
Al5|2|0]|2[dEHEGRESE H27 30| | R27.12.31 | &= Al mEE H27.1.1 | H28.1.1 i
Al5|2|0]2[EmEGRESE H28 30| % | R28.12.31 | FE=E Al mEE H28.1.1 | H29.1.1 i
Al5|2|0]|2|[EHHRESE H29 30| % | R29.12.31 | FE=E Al mEE H29.1.1 | H30.1.1 i
Al5|2|0]|2[dEHEGRESE H30 30| % | R30.12.31 | pE=E Al mEE H30.1.1 | H31.1.1 i
Al5|2|0]2[EmEGRESE RO1 30| % | R31.12.31 | fE=E AL B e H31.1.1 | R2.1.1 i
Al5|2|0]|2|EHERESE R02 30| | R32.12.31 | FEZE A mEE R2.1.1 R3.1.1 i
Al5|2|0]2[EHEGRESE RO3 30| | R33.12.31 | FEZE A mEE R3.1.1 R4.1.1 i
Al5|2|0]2[EHEGRESE RO4 30| F| R34.12.31 | FEZE A mEE R4.1.1 R5.1.1 i
Al5|2|0]|2|EHERESE RO5 30| | R35.12.31 | FEZE A mEE R5.1.3 R6.1.1 i
Al5|2(0]|3|EMmHGEERSE H22 30| F| R22.12.31 | FEZE A mEE H23.1.1 i
Al5|2(0]|3[EMmHGEESE H25 30| F| R25.12.31 | FEZE A mEE H25.1.1 | H26.1.1 i
Al5]2]|0|3[EEMmHEES H26 30| % | R26.12.31 | FEZE AL mEE H26.1.1 | H27.1.1 i
Al5]2]|0|3[EEMMHEES RO1 30| | R31.12.31 | &= AL mEE H31.1.1 | R2.1.1 i
Al5]2]|0|3[EEMMHEES R02 30| % | R32.12.31 | &% AL E R2.1.1 R3.1.1 i
Al5]2]|0|3[EEMMHEES RO3 30| | R33.12.31 | &ZE AL mEE R3.1.1 R4.1.1 i
Al5]2]|0|3[EEMMHEESE RO4 30| | R34.12.31 | FEZE AL mEE R4.1.1 R5.1.1 i
Al5]2]|0|3[EEMMHEES RO5 30| % | R35.12.31 | F&ZE AL mEE R5.1.1 R6.1.1 i




Al5|2|0]4[GEHHERRE H22 30(F| R22.12.31 | B&ZE A mEE H23.1.1 iy
Al5|2|0]4[GEHHERRE H23 30( | R23.12.31 | B&ZE A mEE H24.1.1 iy
Al5|2|0]4[FEHHERRE H24 30(F| R24.12.31 | B&ZE Al mEE H24.1.1 | H25.1.1 i
Al5|2|0]4[EHHERRE H25 30(F| R25.12.31 | BEZE Al mEE H25.1.1 | H26.1.1 i
Al5|2|0]4[EHHERRE H26 30(F| R26.12.31 | B&ZE Al mEE H26.1.1 | H27.1.1 i
Al5|2|0]4[FEHHERRE H27 30(F| R27.12.31 | B&ZE Al mEE H27.1.1 | H28.1.1 i
Al5|2|0]4[EHHERRE H28 30(F| R28.12.31 | FEZE Al mEE H28.1.1 | H29.1.1 i
Al5|2|0]4[EHHERRE H29 30(F| R29.12.31 | BEZE Al mEE H29.1.1 | H30.1.1 i
Al5|2|0]4[EHHERRE H30 30(F| R30.12.31 | F&=E Al mEE H30.1.1 | H31.1.1 i
Al5|2|0]4[FEHHERRE RO1 30(F| R31.12.31 | F&=E Al mEE H31.1.1 | R2.1.1 i
Al5|2|0]4[FEHHERRE RO2 30(F| R32.12.31 | F&=E Al mEE R2.1.1 R3.1.1 i
Al5|2|0]4[EHHERRE RO3 30(F| R33.12.31 | F&=E Al mEE R3.1.1 R4.1.1 i
Al5|2|0]4[FEHHERRE R0O4 30(F| R34.12.31 | F&=E Al mEE R4.1.1 R5.1.1 i
Al5|2|0]4[FEHHERRE RO5 30(F| R35.12.31 | FE=E Al mEE R5.1.1 R6.1.1 i
Al5]2]0|5 [GE¥L A HNE H22 30| % | R22.12.31 | &% A mEE H23.1.1 i
Al5]2]0]|5 [FEE¥L A HNE H23 30| % | R23.12.31 | &% A mEE H24.1.1 i
Al5]2]0|5 [GE¥L A HNE H24 30| | R24.12.31 | &% A mEE H24.1.1 | H25.1.1 i
Al5]2]0|5 [GE¥L A HNE H25 30| % | R25.12.31 | &% A mEE H25.1.1 | H26.1.1 i
Al5]2]0]|5 [FEE¥L A HNE H26 30| % | R26.12.31 | &% A mEE H26.1.1 | H27.1.1 i
Al5]2]0|5 [GE¥L A HNE H27 30| | R27.12.31 | &% A mEE H27.1.1 | H28.1.1 i
Al5]2]0|5 [EEML A HinE H28 30| % | R28.12.31 | F&ZE AL mEE H28.1.1 | H29.1.1 i
Al5]2]0|5 [EEML A HnE H29 30| % | R29.12.31 | F&ZE AL mEE H29.1.1 | H30.1.1 i
Al5]2]0]|5 [EEM ) HNE H30 30| % | R30.12.31 | &% AL E H30.1.1 | H31.1.1 i
Al5]2]0|5 [EEML A HnE RO1 30| | R31.12.31 | &= AL mEE H31.1.1 | R2.1.1 i
A|5]|2| 0|5 [FEHHHINE R0O2 30| | R32.12.31 | Bz AL R R2.1.1 | R3.1.1 i
Al5]2]0|5 [EEML A HNE RO3 30| | R33.12.31 | &% AL mEE R3.1.1 R4.1.1 i




A|5|2]|0]|5 |EELHHNE R0O4 F| R34.12.31 | EZE FEHL R B R4.1.1 R5.1.1 s
A|5|2]|0]|5|ZELHHNE ROb5 F| R35.12.31 | EZE EEM R5.1.1 R6.1.1 s
A|5|2| 0|5 |FEMHHNE RO6 | R36.12.31 | FEE SEH R6.1.1 | R7.1.1 B
AlS|2|0| 8| EEEHRHKERER R0O4 3|&FE| R7.12.31 | EZE EEM R4.1.1 R5.1.1 sy
AlS|2|0| 8| EEEHHKERER RO5 3|&#E| R8.12.31 | BEZE EEM R5.1.1 R6.1.1 sy
AlS|2|0| 8| EEEHHKERER RO6 3|&#E| R9.12.31 | BEZE EEM R6.1.1 R7.1.1 sy
Al5|5] 1|1 |esxvesessrorssnrresss | R02 |wessere| 5 || R7.12.31 | EE ZEMR R2.1.1 R3.1.1 K
Al5|5] 1|1 |esxvreressrorssnresss | RO3 |wemsere| 5 | 4| R8.12.31 | EE ZEMR R3.1.1 R4.1.1 K
Al5]|5] 1|1 |ezzvaressrorsssresns | R4 |semmrre| 5 | £ R9.12.31 o= ZER R4.1.1 R5.1.1 K
Al5|5] 1|1 |eszvreremsrorrsnreses | ROb |eemsere| 5 |4 R10.12.31 | EE ZEMR R5.1.1 R6.1.1 K
Al5|5|1]2|exxvmmessrorrmmrns| ROL |sesmers| 5 |F| R6.12.31 | BEE ZE H31.1.1 | R2.1.1 i3
Al5|5|1]2|exxvmmessrorrmmrns| RO2 |sesmers| 5 |FE| R7.12.31 | BEE =EM R2.1.1 R3.1.1 i3
Al5|5|1]2|exxvmmessrorrmmrns| RO3 |sesmers| 5 |FE| R8.12.31 | BEE ZE R3.1.1 R4.1.1 i3
Al5|5]|1]2|exxvmmessrorrsmrns| RO4 |sesmers| 5 |FE| R9.12.31 | EE ZE R4.1.1 R5.1.1 i3
Al5|5]|1]2|exxvmmessrorrmmrns| RO5 |sesmers| 5 |F£| R10.12.31 | FEE ZE R5.1.1 R6.1.1 T
Al5|5]|1]2|exxvmmessrorrmnmns| RO6 |sewmers| 5 |FE| R11.12.31 | FEE ZE R6.1.1 R7.1.1 T
Al5[5]|1|3|E& =Y RIREENAA RO2 |wmsmere| 5 (4] R7.12.31 | BEZE SEH R2.1.1 | R3.1.1 i
Al5|5|1|3|EZ ) RRZEAFA RO3 |wemmers| 5 [HF| R8.12.31 | FEZE EEM R3.1.1 R4.1.1. iy
Al5[5]1|3|E& =Y RIREEAHAA RO4 |wmmmere| 5 (4] R9I.12.31 | FEZE SEH R4.1.1 | R5.1.1 i
A|l5|5|1|3|E& & VEREHEATME| RS [wewmere| 5| £| R10.12.31 | FEE SEH R5.1.1 | R6.1.1 ik
Al5|5[1]|3]|&EZ &Y BEZERNA RO6 |wemmers| 5 [F£| R11.12.31 | EZE EER R6.1.1 R7.1.1 bag
Al5[(b|114|RBEHRY 7 /le/uE',fif% RO2 |[wemmmere| 5 | & | R7.12.31 | FEZE ZEM R2.1.1 R3.1.1 sy
Al5[5[1]|4 )?51%%7 A ILVEREE RO3 |wemmuri| 5 | £ R8.12.31 | FEZE EEM R3.1.1 | R4.1.1. e
AlG|5|1|4|REERY 71 ILEEEKE RO4 |[wemmmere| 5 | & | R9.12.31 | FEZE ZEM R4.1.1 R5.1.1 sy
AlG|5|1|4|REERY 71 ILELEKE RO5 [weEmmere| 5 | & | R10.12.31 | FEE ZEM R5.1.1 R6.1.1 sy
AlS[5|1|4|REERT 71 LS RO6 |wemmuri| 5 || R11.12.31 | FEZE SEH R6.1.1 R7.1.1 e




Al5|5(1|5|RAEARTERNFEE RO2 54| R7.12.31 | FEZE ZEMH R2.1.1 | R3.1.1 i3
Al5|5(1|5|EAEARTERNFAEE RO3 54| R8.12.31 | FEE ZEMH R3.1.1 | R4.1.1 1B
Al5|5(1|5|EAEARTERNFEE RO4 54| R9.12.31 | BEZE EEMH R4.1.1 | R5.1.1 15
Al5|5(1|5|EAEARTERNFEE RO5 54| R10.12.31 | BEZE =EM R5.1.1 | R6.1.1 15
Al5|5(1]6|EAEARTENTFEE RO1 54| R6.12.31 | BEZE EEH H31.1.1 | R2.1.1 15
Al5|5(1]6|EAEARTENTFHE R02 5| R7.12.31 | BEE EEMH R2.1.1 | R3.1.1 15
Al5|5(1]6|EAEARTENTFES RO3 54| R8.12.31 | FEZE EEH R3.1.1 | R4.1.1 15
Al5|5(1]6|EAEARTENTFEE R04 54| R9.12.31 | EZE EEH R4.1.1 | R5.1.1 15
Al5|5(1]6|EAEARTENTFHS RO5 5|4 | R10.12.31 | = =EM R5.1.1 | R6.1.1 i3
Al5|5(1]6|EAEARTENTFHS R06 54| R11.12.31 | = =EM R6.1.1 | R7.1.1 i3
Al5|5]| 1|7 |[MEEXREESE RO2 54| R7.12.31 | FEE ZE R2.1.1 R3.1.1 i
Al5|5] 1|7 |mEEREERS RO3 5|4 RS8.12.31 | BFEE = E R3.1.1 R4.1.1 i3
Al5|5] 1|7 |mEEREES RO4 5|4 R9.12.31 | FEE ZE R4.1.1 R5.1.1 i3
Als|s|1|7|mEfErREES RO5 54| R10.12.31 | FEZE ZE R5.1.1 R6.1.1 i3
Als|s|1|7|mEfERERS RO6 54| R11.12.31 | FEE ZE R6.1.1 R7.1.1 i3
Al5]5]3]1|nsee @reesnss ansg| RO4 34| R7.12.31 | EZE EEM R4.1.1 R5.1.1 iy
Al5[5]3]1|esee @Gressnes anzsg| RO5 34| R8.12.31 | EZE EEM R5.1.1 R6.1.1 iy
Al5]5]3]1|nsee @reesnss anzg| RO6 34| R9.12.31 | EZE EEM R6.1.1 R7.1.1 iy
Al5]5] 4|1 |[EsEewes @2 & 2 & H28 10[ | RS8.12.31 | E#E EEM H28.1.1 | H29.1.1 iy
Al6[1]|1]|0|&EmBEE (B) & R0O2 54| R7.12.31 | FEE EEM R2.1.1 | R3.1.1 i
Al6|1[1]|0|&EmESE () B RO3 54| R8.12.31 | FEE EEH R3.1.1 | R4.1.1 i3
Al6[1]|1]|0|&mBEE (B) & R04 5| R9.12.31 | = SEM R4.1.1 | R5.1.1 i
Al6|1[1]|0[&EmEEE (1B & RO5 54| R10.12.31 | BEE EEH R5.1.1 | R6.1.1 &
Al6[1]|1]|0|&mBEE (B) & R06 54| R11.12.31 | = EEH R6.1.1 | R7.1.1 i
Al 1|11 |REXNLER R02 54| R7.12.31 | BEE EEH R2.1.1 | R3.1.1 iy
Al 1|11 |REXTLER RO3 54| R8.12.31 | FEE EEH R3.1.1 | R4.1.1 H




Al 1|11 |REXEFLER R0O4 5|&| R9.12.31 | BEZE EEM R4.1.1 R5.1.1 s
Al6[1]1]|1|REXRGTLER RO5 5[#| R10.12.31 | FE=E =EM R5.1.1 | R6.1.1 H5
Al 1|11 |REXEMLER RO6 5|&E| R11.12.31 | BEZE EEM R6.1.1 R7.1.1 e
Al6[1]1]|6[HER (RBEUR) & R0O2 5| R7.12.31 | E=E =EM R2.1.1 | R3.1.1 15
Al6[1]|1]|6[HER (RBEUR) & RO3 54| R8.12.31 | FE=E =EM R3.1.1 | R4.1.1 15
Al6[1]|1]|6[HER (RBEUR) & RO4 5| R9.12.31 | FE=E =EM R4.1.1 | R5.1.1 H5
Al6[1]1]|6[HER (RBEUR) & RO5 5[#| R10.12.31 | FE=E =EM R5.1.1 | R6.1.1 15
Al6[1]|1]|6[HER (RBEUR) & R06 5#| R11.12.31 | E=E =EM R6.1.1 | R7.1.1 15
Al6|2]0]1|[sarsersns conmm wm-—m| H22 30| &£ | R22.12.31 | &= EEM H23.1.1 %
Al6|2]0]1|[sarsersns cosmm wm-—w| H23 30| &£ | R23.12.31 | &= EEM H24.1.1 T
Al6]2]0]|1 [cassansms coaor ws-—w | H24 30( | R24.12.31 | FEZE ZE H24.1.1 | H25.1.1 T
Al6]2]0]| 1 [sessansus coaom s —n | H25 30( | R25.12.31 | EZE = E H25.1.1 | H26.1.1 T
Al6]2]0]| 1 |[sessansus coaom ss-—% | H26 30( | R26.12.31 | FEZE ZE H26.1.1 | H27.1.1 T
Al6]2]0]| 1 |[cessansus coaom s —n | H27 30( | R27.12.31 | EZE ZE H27.1.1 | H28.1.1 T
Al6]2]0]| 1 [sesearsns coaom s —% | H28 30( | R28.12.31 | FEZE ZE H28.1.1 | H29.1.1 T
Al6]2]0]| 1 |[cessarsus coaom s —% | H29 30({ | R29.12.31 | EZE ZE H29.1.1 | H30.1.1 T
Al6]2]0]| 1 |[cessarsus coaom s —% | H30 30( | R30.12.31 | EZE ZE H30.1.1 | H31.1.1 T
Al6]2]0]| 1 [serearsms coaom ss-—&| ROL 30({ | R31.12.31 | EZE ZE H31.1.1 | R2.1.1 T
Al6]2]0]| 1 |[sessarsus coaom w8 —% | RO2 30( | R32.12.31 | EZE ZE R2.1.1 R3.1.1 T
Al6]2]0]|1|[sessarsus coaom w8 —% | RO3 30( | R33.12.31 | EZE ZE R3.1.1 R4.1.1 T
Al6[2]0]| 1 |assersns cuavm wi-—& | RO4 30( & | R34.12.31 | BE=E ZEH R4.1.1 R5.1.1 sy
A6 2|01 [essarnes Goawm s -—x [ RO5 30( & | R35.12.31 | BEZE ZEH R5.1.1 R6.1.1 hiay
Al6[2]0] 2 |sauss. cexrsarsus muom | H30 30( &£ | R30.12.31 | BEZ=E ZEH H30.1.1 | H31.1.1 hiay
Al6[2]0] 2 |sauss. carsarsus =uom | RO 30( & | R31.12.31 | BEZ=E ZEH H31.1.1 [ R2.1.1 sy
Al6[2]|0] 2 |sauses. carsarsms @uom | RO2 30( & | R32.12.31 | BE=E ZEH R2.1.1 R3.1.1 sy
Al6[2]|0] 2 |sause. carsarsrs @uom | RO3 30( & | R33.12.31 | BE=E ZEH R3.1.1 R4.1.1 K




Al 6]|2|0] 2 |snuse massarsns uom | RO4 | R34.12.31 | EZE =EM R4.1.1 | R5.1.1 %
Al6]|2|0] 2 |sause marssrsns uwm | RO #£| R35.12.31 | FEZE =B R5.1.1 | R6.1.1 %
Al 6]|2|0]2|snuse mazsarsns uom | RO6 #F£| R36.12.31 | FEZE =EM R6.1.1 | R7.1.1 %
Al6|2|0]| 6 EBENREGCEKE R0O2 5|&E| R7.12.31 | EZE EEM R2.1.1 R3.1.1 e
Al6|2|0]| 6 EBENREGLEKE RO3 5|&| R8.12.31 | EZE EEM R3.1.1 R4.1.1 e
Al6|2|0]| 6 EBENRIGLEKE R0O4 5|&| R9.12.31 | BEZE EEM R4.1.1 R5.1.1 e
Al6|2|0]| 6 EBEARIGLLEKE RO5 5 || R10.12.31 | Bz EEM R5.1.1 R6.1.1 e
Al6|2]|0]6 | BENREFGLIRE RO6 5|&| R11.12.31 | Bz EEM R6.1.1 R7.1.1 e
Al6|2|0| 7 |MESEEEREER R0O2 5|&E| R7.12.31 | EZE EEM R2.1.1 R3.1.1 sy
Al6| 2|07 |MESEEEREER RO3 5|&| R8.12.31 | BEZE EEM R3.1.1 R4.1.1 sy
Al6|2|0| 7 |MEEEEREER R0O4 5|&| R9.12.31 | BEZE EEM R4.1.1 R5.1.1 sy
Al6|2|0| 7 |MESEEEREER RO5 5 || R10.12.31 | Bz EEM R5.1.1 R6.1.1 sy
Al6|2|0| 7 |MESEEEREER RO6 5|#E| R11.12.31 | Bz EEM R6.1.1 R7.1.1 sy
Al6]2] 1|0 |eestss.me neme @umr | H22 30[F| R22.12.31 | B&ZE |BEFvEXRY b H23.1.1 ik
Al6]2]1|0|eestss. e nme @umr | H23 30| % | R23.12.31 | BZ [ B=E*¥vEx v b H24.1.1 ik
Al6l2]1]0|ersnss. w5 nes @asen | H24 30| F| R24.12.31 | BBRZE | BEEF v Xy M H24.1.1 | H25.1.1 K
Al6l2]1]0|ersnss. s nes @gem | H25 30| F| R25.12.31 | BZE | B=EF+ v &y M| H25.1.1 | H26.1.1 K
Al6l2]1]0|ersnss. w5 nes @gem | H26 30| F| R26.12.31 | BZ | BE=EF v Xy M H26.1.1 | H27.1.1 K
Al6l2]1]0|ersnss. w5 nes @semn | H2T 30| F| R27.12.31 | BBRZE | BE=EF v Xy M H27.1.1 | H28.1.1 K
Al6l2]1]0|ersnss. w5 nes @gem | H28 30| F| R28.12.31 | BBRZ | BE=EF v Xy M| H28.1.1 | H29.1.1 K
Al6l2]1]0|eesnsm. s nes @Esmn | H29 30| F| R29.12.31 | BRZE | BE=E+ v X v M| H29.1.1 | H30.1.1 K
Al6l2]1]0|eesnsm.mm nes @Esmn | H30 30| F| R30.12.31 | BZE [#B=EF* v Ex v M| H30.1.1 | H31.1.1 K
Al6|2]1]0|ersnse. e nes @xem | RO 30| F| R31.12.31 | BBRZE |3 B=E+ v Xy M| H31.1.1 | R2.1.1 hiay
Al6]2]1]0|ersnse. wm nes @sew | RO2 30(#F| R32.12.31 | BEZE |9 Ss=FvEx v M R2.1.1 R3.1.1 hiay
Al6|2]1]0|ersnze. wm nes @sesw | RO3 30( & | R33.12.31 | FEZE |9WSs=+FvEx v M| R3.1.1 R4.1.1 bian
Al6l2]1]0eesuzn. s nes @wen | RO4 30( & | R34.12.31 | BEZE |9 S=F v Ex v M| R4L1 R5.1.1 K




Al6| 2|10 |eeserse. s wes @xem | ROD 30( | R35.12.31 | BEZE |9Ws=E+fvEx v M| R5.1.1 R6.1.1 T
Al6l 2] 1|0 eesuse. s nes @sesm | RO6 30( | R36.12.31 | BEZE |Ws=+fvEx v M| R6.1.1 R7.1.1 ik
Al6|2]|2|8 | AEEEHTE RO2 5| R7.12.31 | BEE =EM R2.1.1 | R3.1.1 iy
Al6|2]|2| 8| AEEEHTE RO3 54| R8.12.31 | FEZE =EM R3.1.1 | R4.1.1 iy
Al6|2]|2| 8| AEEBEHTE RO4 54| R9.12.31 | EZE =E R4.1.1 | R5.1.1 iy
Al6|2]|2| 8| AEEEHTE RO5 54| R10.12.31 | BEZE =EM R5.1.1 | R6.1.1 iy
Al6|2]|2| 8| AEEEHTE R06 54| R11.12.31 | BEE =EM R6.1.1 | R7.1.1 iy
Al6|3|0]2|EBEETBTRRRE RO4 3|®#| R7.12.31 | BEE =E R4.1.1 | R5.1.1 iy
Al6|3|0]2|EETBUTEBRE RO5 3|#| R8.12.31 | FEE = E R5.1.1 | R6.1.1 i3
Al6|3|0]2|EETBUTEBRE R06 3|®#| R9.12.31 | FEE ZE R6.1.1 | R7.1.1 i3
Al6l4]0]1lrvargre—rx—s—mpagz| RO2 54| R7.12.31 | FEE ZE R2.1.1 R3.1.1 T
Al6l4]o]|1lroerstre—rx—s—muasz| RO3 5|4 RS8.12.31 | BFEE = E R3.1.1 R4.1.1 T
Al6l4]o]|1lroarstxe—rx—s—muasz| RO4 5|4 R9.12.31 | FEE ZE R4.1.1 R5.1.1 T
Al6l4alo]1lrvsrstxe—rx—s—mmanz| RO5 5|4 | R10.12.31 | = =EM R5.1.1 | R6.1.1 iy
Al6lalo]1lzvsarstxe—rx—s—mmunz| RO6 54| R11.12.31 | = =E R6.1.1 | R7.1.1 s
Al6]|5]|0]| 1| - ZEEHBHIERRER| RO4 3| R7.12.31 | BEE ZE R4.1.1 | R5.1.1 i3
Al6|5(0]| 1|8k - SEEBEEIHREE| RO5 3|%#| R8.12.31 | FEE ZE R5.1.1 | R6.1.1 i3
Al6]|5]|0]| 1| - ZEEHBHIERRER| RO6 3| R9.12.31 | FEE ZE R6.1.1 | R7.1.1 i3
Al 6|50 2 |=By LM mikE RO4 3| R7.12.31 | BEE ZE R4.1.1 | R5.1.1 i3
Al6]|5]0]2|=HBh Y miksE RO5 3|4 R8.12.31 | EE ZE R5.1.1 R6.1.1 e
Al 6|50 2 |=5By LM =k E R06 3|4 | R9.12.31 | ®E= EEH R6.1.1 | R7.1.1 H®
Al9|0|0]1[BERLBHRLIESE RO4 |mwozers| 3| 4| R7.12.31 | FEE EEH R4.1.1 | R5.1.1 &
Al9|0|0]1[ERLLBHLIESE RO5 |=mozers| 3 || R8.12.31 | BEZE EEH R5.1.1 | R6.1.1 &
Al9|0|0]1[BERLBHRLIESE RO6 |=wozzrs| 3 || R9.12.31 | BEZE EEH R6.1.1 | R7.1.1 H®
Al8|1|1]4|RARFEEREREKSER| RO6 1|(&#| R7.12.31 | BEE EEH R6.1.1 | R7.1.1 H®
ql2|0|1|6 | BEREHITULE H27 10| #| R7.12.31 | &= EE H27.1.1 | H28.1.1 | #K




q|2(0]1|6|BEHREHEULSE H28 10| | R8.12.31 | = SEH H28.1.1 | H29.1.1 iy
TI1]4(0]2[zo@REKRERER RO2 5|4 R7.12.31 | BEZE SEH R2.1.1 R3.1.1 iy
TI1]4(0]2[zc@RFIKRERER RO3 54| R8.12.31 | BEE SEH R3.1.1 R4.1.1 i
TI1]4(0]2[zo@RFKRERER R0O4 5|4 R9.12.31 | BEZE SEH R4.1.1 R5.1.1 i
TI1]4(0]2[z@RFRRERER RO5 54| R10.12.31 | BEZE SEH R5.1.1 R6.1.1 i
TI1]4(0]2[zc@RFIKRERER RO6 54| R11.12.31 | BEZE SEH R6.1.1 R7.1.1 i
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ISR 53 T AN BN ey PO e | 7200 | RO RS
Al0]O]O HO04 30 4= | R13.12.31 | BEZE |BMretob H14.01.01 | #%
Al0]O]O HO05 30 4= | R13.12.31 | BEZE |BMredob H14.01.01 | #%
Al0]O]O HO8 30 4 | R13.12.31 | BEZE |BMredob H14.01.01 | #%
Al0]O]O HO09 30 A | R13.12.31 | BEFE |Bfsredob H14.01.01 | #%
Al0]O]O H10 30 A | R13.12.31 | BEZE |Bfsredob H14.01.01 | #%
Al0]O]O H12 30 A | R13.12.31 | BEFE |Bfsredob H14.01.01 | #%
Al0]O]O H13 30 A | R13.12.31 | BEFE |Bfsredob H14.01.01 | #%
Al0]O]O H14 30 A | R14.12.31 | BEZE |BfAsredob H15.01.01 | #%
Al0]O]O H15 30 4 | R15.12.31 | BEFE |Bfisredob H16.01.01 | #%
Al0]O]O H16 30 4 | R16.12.31 | BEFE |Bfisredob H17.01.01 | #%
Al0]O]O H17 30 4 | R17.12.31 | BEFE |Bfisredob H18.01.01 | #%
Al0]O]O H18 30 4 | R18.12.31 | BEFE |Bfisredob H19.01.01 | #%
Al0]O]O H19 30 4 | R19.12.31 | BEFE |Bfisredob H20.01.01 | #%
Al0]O]O H21 30 4 | R21.12.31 | BEFE |Bfisredob H22.01.01 | #%
Alolofo H22 30 4F | R22.12.31 | BE3E [Bmxresob H23.01.01 #E
Alolofo H23 30 4F [ R23.12.31 | BEHE [Bmxrexob H24.01.01 #E
Alolofo H24 30 4F | R24.12.31 | Fg#E |mmrrexor| H24.01.01 | H25.01.01 #E
Al0]O]O H25 30 4F | R25.12.31 | BEZE |mmsvexob| H25.01.01 | H26.01.01 | #%
Alo]o]o SCERR HO1 30 4F | R13.12.31 | BE3E [Bmxrexob H14.01.01 | #&




G [X /) ﬁ;ﬁfi 1%7??;@;&3 i (R 7/;5; /El/ %gg FE?
Al0] 0| 0|2 |miECER HO03 R13.12.31 BRAIS e ok H14.01.01
Al0] 0| 0|2 |miECER H04 R13.12.31 BRAIS e ok H14.01.01
Al0] 0| 0|2 |miECER HO05 R13.12.31 BRAIS e ok H14.01.01
Al0] 0| 0|2 |miECER HO8 R13.12.31 BRAI e ok H14.01.01
Al0] 0| 0|2 |miECER H09 R13.12.31 BRAIS e ok H14.01.01
Al0] 0| 0|2 |mECER H10 R13.12.31 BRAI e ok H14.01.01
Alofo]o]2|mEcER HI11 R13.12.31 CUIERSE I H14.01.01
Al0] 0| 0|2 |mECER H12 R13.12.31 BRAI e ok H14.01.01
Al0] 0| 0|2 |mECER H13 R13.12.31 BRAI e ok H14.01.01
Al0] 0| 0|2 |mECER H14 R14.12.31 BRAI e ok H15.01.01
Alofo]o]2|mEcER H15 R15.12.31 | BEHE [mMrve ok H16.01.01
Alofo]o]2|mEcER H16 R16.12.31 | BEHE [mMxrverob H17.01.01
Alofo]o]2|mEcER H17 R17.12.31 | BEHE [mMrverob H18.01.01
Alofo]o]2|mEcER H18 R18.12.31 | BEHE [mMrve ok H19.01.01
Alofo]o]2|mEcER H19 R19.12.31 | BEHE [mMrverob H20.01.01
Alofo]o]2|mEcER H20 R20.12.31 | BEHE [mMrve ok H21.01.01
Alo|ofo]2|mEcER H21 R21.12.31 | BEHE [mmrreiob H22.01.01
Alo|ofo]2|mEcERH H22 R22.12.31 | BEHE [mmrveiob H23.01.01
Alo|ofo]2|mEcERH H23 R23.12.31 | BEHE [mmrveior H24.01.01
AlO|O|Of2[FEEcER H24 R24.12.31 | BEZE |mmsrexok| H24.01.01 | H25.01.01
AlO|O|Of2[FEEcER H25 R25.12.31 | BEZFE |mmsrexok| H25.01.01 | H26.01.01




ORI 53 Tr A% BN ey RO e | 720 | RO RS
Al0] 0| 0|2 |miECER H26 30 4F | R26.12.31 | BEZE |smsrexok| H26.01.01 | H27.01.01 | %
Al0] 0| 0|2 |miECER H27 30 4F | R27.12.31 | BEEE |smsvexok| H27.01.01 | H28.01.01 | %%
Al0] 0| 0|2 |miECER H28 30 4F | R28.12.31 | BEZE |smsrexok| H28.01.01 | H29.01.01 | %
Al0] 0| 0|2 |miECER H29 30 4F | R29.12.31 | BEZE |smsvexok| H29.01.01 | H30.01.01 | %%
Al0] 0| 0|2 |miECER H30 30 4F | R30.12.31 | BEZE |smsvexok| H30.01.01 | H31.01.01 | %%
Al0] 0| 0|2 |mECER RO1 30 4E | R31.12.31 | e |smsrexok| H31.01.01 | R02.01.01 | %%
Al0] 0| 0|2 |mECER RO2 30 4F | R32.12.31 | e |smsvexok| R0O2.01.01 | R03.01.01 | %
Alofo|o]2|mEECER RO3 30 4E | R33.12.31 | e |smsvexok| R03.01.01 | R0O4.01.01 | %
Alofo|o]2|mEECER R04 30 4F | R34.12.31 | BE=EE |smsrexok| R04.01.01 | R05.01.01 | %
Alofo|o]2|mECER R05 30 4E | R35.12.31 | BE=E |smsrexok| R05.01.01 | R06.01.01 | %
Al0]0]|0]|2|miECER R06 30 4E | R36.12.31 | FgzE |mwmx+rsor| R06.01.01 | RO7.01.01 | %%
AlO[ 10| 1 [ATFEXdEER HO1 30 45 | R13.12.31 | BEZE |poisre ok H14.01.01 | &
AlO[ 10| I [ATFEXdEER HO02 30 4F | R13.12.31 | BEZE |poisre ok H14.01.01 | &
AlO[ 10| I [ATFEXdEER HO7 30 4F | R13.12.31 | BEZE |poisre ok H14.01.01 | &
AlO[ 10| 1 [ATFEXdEER H11 30 45 | R13.12.31 | BEZE |poisrexohk H14.01.01 | &
AlO[ 10| 1 [ATFEXdEER H12 30 45 | R13.12.31 | BEZE |poisrexok H14.01.01 | &
AlO[ 10| 1 [ATFE X dEER H13 30 4F | R13.12.31 | BEEHE |smsre ik H14.01.01 | &
AlO[ 10| 1 [ATFE X dEER H14 30 4F | R14.12.31 | BEEHE |smsre ok H15.01.01 | %
AlO[ 10| 1 [ATFE X dEER H19 30 4F | R19.12.31 | BEEHE |smsre ik H20.01.01 | &
A0 1|0 1 [AF7FE XidiEEH R04 30 4F | R34.12.31 | BEZE |mmx+exob| R04.01.01 | R05.01.01 | %%
A0 1|0 1 [AF7FE XS R05 30 4F | R35.12.31 | BEZE |mmx+exob| R05.01.01 | R06.01.01 | %%




Al o0 0| 1A 748 X e %% R06 R36.12.31 | BEZE |smx+txuk| R06.01.01 | R07.01.01
Al o0 0 | 2 | A48 X e % H27 R7.12.31 | BEZE |pomsrexok| H27.01.01 | H28.01.01
Al o0 0| 2 | A48 X %% RO4 R14.12.31 | BE=ZE |smx+exok| R04.01.01 | R05.01.01
Al o0 0 | 2 | A48 X e % RO5 R15.12.31 | BE=ZE |smx+txuk| R05.01.01 | R06.01.01
Al o0 0| 2 | A48 X %% R06 R16.12.31 | BE=ZE |smx+rxuk| R06.01.01 | R07.01.01
Al o 0 | 3 |4/ T48 X 2 %% RO3 R8.12.31 | BEZE [mmx+exok| R03.01.01 | R04.01.01
Al0 0 | 3 |47 X e %% R04 R9.12.31 | BEZE [mmx+exok| R04.01.01 | R05.01.01
Al0 0 | 3 |4/ T48 X e %% R05 R10.12.31 | BE#E [mm=+ravk| R05.01.01 | R06.01.01
Al0 0 | 4 | A T48 X e %% R04 R7.12.31 | BEZE [mmx+exok| R04.01.01 | R05.01.01
Al0 0 | 4 | A48 X e % R05 R08.12.31 | BE#E [mm=+ravk| R05.01.01 | R06.01.01
Al 0 04 T ER R06 R09.12.31 | BE3E |mm=+exor| R06.01.01 | RO7.01.01
Al 0 0]6 HO1 R13.12.31 | BEIE |Bfsredob H14.01.01
Al 0 0]6 j HO2 R13.12.31 | BEHE |Bfsredob H14.01.01
Al 0 0]6 j HO3 R13.12.31 | BEHE |Bfsredob H14.01.01
Al 0 0]6 j HO04 R13.12.31 | BEHE |Bfsredob H14.01.01
Al 0 0]6 j HO05 R13.12.31 | BEHE |BfAisredob H14.01.01
Al0 06 i HO06 R13.12.31 | BE3E |BMxrexoh H14.01.01
Al0 06 i HO7 R13.12.31 | BE3E |BMxrexoh H14.01.01
Al0 06 i HO08 R13.12.31 | BE3E |BMxrexoh H14.01.01
Al0 0f6 HO09 R13.12.31 | BE3E |BAxrexoh H14.01.01
AlO 0f6 % H10 R13.12.31 | BE3E |BAxrexoh H14.01.01
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Alo 0 | 6 |11 e k% RO3 R33.12.31 e xoh[ R03.01.01 | R04.01.01
Al0 0 | 6 |51 e k% R04 R34.12.31 e xoh[ R04.01.01 | R05.01.01
Al0 0 | 6 |11 e k% R05 R35.12.31 e xoh[ R0O5.01.01 | R06.01.01
Al0 0 | 6 |11 e % R06 R36.12.31 e xoh[ R06.01.01 | R0O7.01.01
Al0 0| 7 |1 e % H27 R7.12.31 e o[ H27.01.01 | H28.01.01
Al 0 0| 7 |5 e % H28 R8.12.31 Bl e o[ H28.01.01 | H29.01.01
Al0 0| 7 | Ef% H29 R9.12.31 B o[ H29.01.01 | H30.01.01
Al0 0| 7 |l Ef% H30 R10.12.31 e o[ H30.01.01 | H31.01.01
Al 0 07|t RO1 R11.12.31 e ve ok H31.01.01 | R02.01.01
Al 0 07| R02 R12.12.31 BeAxve sk R02.01.01 | R03.01.01
Al 0 0|7 [—Mmim e RO3 R13.12.31 | BE#E |mmxvexor| R03.01.01 | R04.01.01
Al 0 0| 7 [—MmtimiEf R04 R14.12.31 | BE#E |mmxrexor| R04.01.01 | R05.01.01
Al 0 0|7 [—Mmim e R05 R15.12.31 | BE#E |mmx+exor| R05.01.01 | R06.01.01
Al 0 0|7 [—Mmim e R06 R16.12.31 | BE#E |mmxvexor| R06.01.01 | RO7.01.01
Al 0 0| 8 [—MimiEEf R02 R7.12.31 | BEEE [mmr+exor| R02.01.01 | R03.01.01
Al 0 0| 8 [—MimiEf RO3 RS.12.31 | BEEE [mmr+exor| R03.01.01 | R04.01.01
Al 0 0| 8| —fim e R04 R9.12.31 | BFEsE [mmxvexor| R04.01.01 | R05.01.01
Al 0 0| 8| —fim e R05 R10.12.31 | BEZE |mmsrexok| R05.01.01 | R06.01.01
Al 0 0| 8| —fim e R06 R11.12.31 | BEZE |mm=rexok| R06.01.01 | RO7.01.01
Alo0 09| s eEf R04 R7.12.31 | BEIE |smveior| R04.01.01 | R05.01.01
Alo0 09| —Mim e R0O5 R08.12.31 | Fg# |mmrexvb| R05.01.01 | R06.01.01




ORI 53 Tr A% BN ey RO e | 720 | RO RS
A0 1|09 |—MximeER R06 3 4E | R09.12.31 | BEZE s+ xvk| R06.01.01 | RO7.01.01 | %
AlOf 1|15 |mE%Eks RO2 54E | R7.12.31 | BEZE |mws+exok| R02.01.01 | R03.01.01 | %
Al0f 1|15 |mEn%Eks RO3 54E | R8.12.31 | BEZE |mws+riok| R03.01.01 | R04.01.01 | %
A0 1| 1|5 [ R04 54E | R9.12.31 | BEZE s+ iok| R04.01.01 | R05.01.01 | %
Al O] 1| 1|5 [ R05 5 4F | R10.12.31 | BEZE s+ xvk| R05.01.01 | R06.01.01 | &
AlO| 1| 1|5 [E@EnsEsH RO6 54 | R11.12.31 | BEZE |mmxrexor| R06.01.01 | RO7.01.01 | #%
AlO| 1| 1|6 [HEEnsEsH R04 34 | R7.12.31 | BEZEE |maxrerob| R04.01.01 | R05.01.01 | #%
AlO| 1| 1|6 [HEEsEsH R05 34 | R08.12.31 | BEZE |mmxrexob| R05.01.01 | R06.01.01 | #%
AlO| 1| 1|6 [HEEsEsH RO6 34 | R09.12.31 | BEZE |mmxrerob| R06.01.01 | RO7.01.01 | #%
Alof2]0] 2 |[FBBELR R04 34F | R7.12.31 | BEFHE |mmvc ok R04.01.01 | R05.01.01 | %
Alof2]0] 2 |[FBBEuLR R05 34 | R08.12.31 | BEZE |mmx+exvh| R05.01.01 | R06.01.01 | #%
Al0f2]0] 2 |[FBEELR R06 34 [ R09.12.31 | BEZEE |mmx+exvh| R06.01.01 | R0O7.01.01 | #%
Alof2]0]|6|cET7 A& A ST 4 AT NS BT
A0 2| 1| 2HBIEHE S R4 34| R7.12.31 | BE3HE |ms+exob| R04.01.01 | R05.01.01 | %
A0 2| 1| 2HBIEHE S R05 34 | R08.12.31 | BEHE |ms+txvh| R05.01.01 | R06.01.01 | %
A0 2| 1| 2HBIEHE S R06 34| R9.12.31 | BE#HE |ms+txvb| R06.01.01 | RO7.01.01 | &
Alof 2] 1|5 cEpEE-BERE R0O2 54| R7.12.31 | BEZE [wmsrexokb[ R02.01.01 [ R03.01.01 | &K
AlO0|2|1]5|cEREE-BEE RO3 54| R8.12.31 | BEFE [wmsrexokb[ R03.01.01 [ RO4.01.01 | &
Alo] 2| 1] 5 [cEpEE-BERE R04 54| R9.12.31 | BEZE [wmsrexokb[ R04.01.01 [ R05.01.01 | &K
AlOf2]1]5|CEFEE-BEHE R05 54 | R10.12.31 | BEZE |smx+exor| R05.01.01 | R06.01.01 | %%
AlOf2]1]5|CEFEE-BEHE R06 54 | R11.12.31 | BEZE |mmx+exor| R06.01.01 | RO7.01.01 | %%




LE T AN BN ey RO e | 720 | RO RS
AlO]3[0] 1 [z B EEHE RO4 34 | R7.12.31 | BEZE |mmsrexor| R04.01.01 | R05.01.01 | #%
AlO]3[0] 1 [z B EEHE R05 34 | R8.12.31 | BEZE [mms+exor| R05.01.01 | R06.01.01 | #¢
AlO]3[0] 1 [z B EEHE R06 34 | R9.12.31 | BEZE [mmsrexor| R06.01.01 | RO7.01.01 | #&
Al0[5]0] 1 [akREBIFREE RO4 34 | R7.12.31 | BEZE |mmsrexor| R04.01.01 | R05.01.01 | #%
Al0[5]0] 1 |[akREBIFREE R05 3 4 | R08.12.31 | BEZE |mms+exor| R05.01.01 | R06.01.01 | #&
AlO0[5]0] I [hteRaBIFRER R06 34F | R9.12.31 | BEFHE |mmrxrivk| R06.01.01 | RO7.01.01 | %
Al L 2|0] 1 [eEszxsit4dE RO5 34F | R08.12.31 | HIBR [ 7+14| R05.01.01 | R06.01.01 |
Al1l2|o]2|fneEcE SRR LS e BEIE  |BEMTreRob #E
Al2]10]0| 1 [ A\ZEEhmEnEH R05 30 4E | R35.12.31 | BE=E |smsrexok| R05.01.01 | R06.01.01 | %
Al2]10]0| 1 [ A\ZEEhmEnEH R06 30 4F | R36.12.31 | e |smsvexok| R06.01.01 | RO7.01.01 | %
Alzlo]o|2|mEfREE HO1 30 4E [ R13.12.31 | BEZE [moaxvexoh H14.01.01 | %%
Alzlo]o|2|mEfREE H02 30 4E [ R13.12.31 | BEIE [momxvexoh H14.01.01 | %%
Alzlo]o|2|mEfREE Ho3 30 4E [ R13.12.31 | BEIE [momxvexoh H14.01.01 | %%
Alzlo]o|2|mEfREE HO04 30 4E [ R13.12.31 | BEIE [momxsexoh H14.01.01 | %%
Alzlo]o|2|mEfREE HO5 30 4F [ R13.12.31 | BEIE [moaxeixoh H14.01.01 | %%
Alzlo]o|2|mEfREE H06 30 4F [ R13.12.31 | BEIE [momxsreioh H14.01.01 | %%
Al2]0|0|2|mrEfEEE HO7 30 4F | R13.12.31 | FEIE |smervrsor H14.01.01 | #&%
Al2]0|0|2|mrEfEEE HO8 30 4F | R13.12.31 | FEIE |mmervrsor H14.01.01 | #&%
Al2]0|0f2|mrEfEEE H09 30 4F | R13.12.31 | FEIE |mmervrsor H14.01.01 | #&%
Al2]0|0f2|mrEfEE#E H10 30 4F | R13.12.31 | FEZE |mmervrsor H14.01.01 | #%
Al2]0|0f2|mrEfEE#E H11 30 4F | R13.12.31 | FEZE |mmervrsor H14.01.01 | #%




G [X /) ﬁ;ﬁfi 1%7??;@;&3 i (R 7/;5; /El/ %gg FE?
Al2(0]0|2|/mEEtaERE H12 R13.12.31 BRI S b H14.01.01
Al2(0] 0|25t ERE H13 R13.12.31 BRI S b H14.01.01
Al2(0]0|2|/mEEtaERE H14 R14.12.31 BRI S b H15.01.01
Al2(0] 0|2 |/mEEteaEdE H15 R15.12.31 BRI S b H16.01.01
Al2(0]|0|2|/mEEtaERE H16 R16.12.31 PHIERSEE SN H17.01.01
Al2]0|0f2|mrEfEE#E H17 R17.12.31 PHIERSEE SN H18.01.01
Al2]0|0f2|mrEfEE#E H18 R18.12.31 PHIERSEE SN H19.01.01
Al2]0|0f2|mrEfEE#E H19 R19.12.31 PHIERSEE SN H20.01.01
Al2]0|0f2|mrEfEE#E H20 R20.12.31 PHIERSEE SN H21.01.01
Al2]0|0f2|mrEfEE#E H21 R21.12.31 PHIERSEE SN H22.01.01
Al2]0|0f2|mrEfEEE H22 R22.12.31 | BE#E [mmsre ik H23.01.01
Al2]0|0f2|mrEfEEE H23 R23.12.31 | BE#E |mmsrexob H24.01.01
Al2]0f0]2[mrEfEE#H H24 R24.12.31 | BEZFE |smx~exok| H24.01.01 | H25.01.01
Al2]0f0]2[mrEfEE#H H25 R25.12.31 | BEZFE |smx+exok| H25.01.01 | H26.01.01
Al2]0f0]2[mEfEERH H26 R26.12.31 | BEZFE |smx+exok| H26.01.01 [ H27.01.01
Al2]0f0]2[mEfEERH H27 R27.12.31 | BEZFE |smx~exok| H27.01.01 | H28.01.01
Al2]0f0]2[mrEfEERH H28 R28.12.31 | BEHE [mrvexvh| H28.01.01 [ H29.01.01
Al2]0f0]2[mrEfEERH H29 R29.12.31 | BEHE [msrvexvb| H29.01.01 [ H30.01.01
Al2]0f0]2[mrEfEERH H30 R30.12.31 | BEHE [mr+exvh| H30.01.01 [ H31.01.01
Al2]0f0]2[mrEfEE#H RO1 R31.12.31 | BE3E |smx+vexob| H31.01.01 [ R02.01.01
Al2]0f0]2[/mrEfEE#H R0O2 R32.12.31 | BEHE [mAx+exvh| R02.01.01 [ R03.01.01




ORI 53 Tr A% BN ey RO e | 720 | RO RS
Al 20|02 |nEfEERE RO3 30 4E | R33.12.31 | FE#E |smx+rxok| R03.01.01 | R04.01.01 | %%
Al2(0] 0|25t ERE RO4 30 4E | R34.12.31 | FE#E |smx+rxok| R04.01.01 | R05.01.01 | %%
Al2(0]0|2|/mEEtaERE R05 30 4E | R35.12.31 | FE#E |smx+rxok| R05.01.01 | R06.01.01 | %%
Al2(0] 0|2 |/mEEteaEdE R06 30 4E | R36.12.31 | FE#E |smx+rxok| R06.01.01 | RO7.01.01 | %%
Al 2|5 0] 1 [HeEASCERBIRE RO4 34| R7.12.31 | BEFE |mAxvexob| R04.01.01 | R05.01.01 [ #K
Al2(5[0[1 [#eFE SCHEBERRK R05 34| R08.12.31 | BEZE [mmrexsk[ R05.01.01 [ R06.01.01 | &
Al2(5[0[1 [#eFE SCHRBERRK R06 34| R9.12.31 | BEZE |mmxvexob| R06.01.01 | RO7.01.01 [ #K
Al 219 0] 4 [Fedns RELEkE RO4 34 | R7.12.31 | BEZE |mmsrexor| R04.01.01 | R05.01.01 | ¢
Al 21907 4 [medns RELEE RO5 34 | R08.12.31 | BEZE |mms+exor| R05.01.01 | R06.01.01 | ¢
Al 219 0] 4 [medns RELEkE R06 34 | R9.12.31 | BEZE |mmsrexor| R06.01.01 | RO7.01.01 |  #¢
Al2]9]0]| 5 [HGH~ RIS H £ R04 34E | R7.12.31 | BEHE |mmsvexor| R04.01.01 | R05.01.01 [ #%
Al2]9]0]| 5 [HGH~RILHREH & RO5 34 [ R08.12.31 | BEHE |mfvexor| R05.01.01 | R06.01.01 [ #%
Al2]19[0] 6 [EERISRATAI EREF R04 34E | R7.12.31 | BEZE [msvrxob| R04.01.01 | R05.01.01 | #%
Al2]9]0] 6 [EEXSITARERES RO5 34 | R08.12.31 | BEZE [mmxrexob| R05.01.01 | R06.01.01 | #K
Al2]19[0] 6 [EEXISRATAI EREF RO6 34E | R9.12.31 | BEZEE [msvrxob| R06.01.01 | RO7.01.01 | #%
Al32|0]1|FEEE H13 30 4F | R13.12.31 | BEEE |mmsre ok H14.01.01 | #&
Al3]2]|0|1|ERER H14 30 4F | R14.12.31 | BEEE |mmsve b H15.01.01 | &
Al3]2]|0|1|ERER H15 30 4F | R15.12.31 | PBEEE |mmsre b H16.01.01 | &
Al3]2]|0|1|ERER H16 30 4F | R16.12.31 | PBEEE |mmsveiob H17.01.01 | &
Al3|2]|0|1|ERER H17 30 4F | R17.12.31 | BEEE |mosve o H18.01.01 | &
Al3|2]|0|1|ERER H18 30 4F | R18.12.31 | JEEE |mmsrr ot H19.01.01 | &




ORI 53 Tr A% BN ey RO e | 720 | RO RS
Al3|2|0]1[REAK H19 30 4F | R19.12.31 | PBEEE |msvriob H20.01.01 | %%
Al3l2]|0|1|EEs H20 30 4F | R20.12.31 | BEIE | iob H21.01.01 |  #%
Al3|2|0]1[REAK H21 30 4F | R21.12.31 | PBEEE |mosvriob H22.01.01 | %%
Al312(0]1 A H22 30 4F | R22.12.31 | BEZE [Bxresxob H23.01.01 K
Al312(0]1 A H23 30 4F [ R23.12.31 | BE3E [Bxresxob H24.01.01 K
Al3[2]0]1[REAIE H24 30 4E | R24.12.31 | Fg3E |mmxvrson| H24.01.01 | H25.01.01 | %%
Al3[2]0]1[REAIE H25 30 4E | R25.12.31 | Fg3E |mmrvrson| H25.01.01 | H26.01.01 | #%
Al3lz2fof1|EESR H26 30 4E | R26.12.31 | BEZE |mmxreror| H26.01.01 | H27.01.01 | 4%
Al3[2]0]1[REAIE H27 30 4E | R27.12.31 | Fg3E |mwmxvrson| H27.01.01 | H28.01.01 | %%
Al3[2]0]1[REAIE H28 30 4E | R28.12.31 | Fg3E |mmrvrson| H28.01.01 | H29.01.01 | %%
Al3f2]0]1|&Es H29 30 4E | R29.12.31 | FgzE |mmrvrson| H29.01.01 | H30.01.01 | %%
Al3f2]0]1|&Es RO1 30 4E | R31.12.31 | FgzE |mmrsrson| H31.01.01 | R02.01.01 | %%
Al3f2]0]1|&Es R02 30 4E | R32.12.31 | FgzE |mmxrvrsor| R02.01.01 | R03.01.01 | %%
INEIMIRSES 3= RO3 30 4E | R33.12.31 | FgzE |mmrvrsor| R03.01.01 | R0O4.01.01 | %%
Al3f2]0]1|&Es R04 30 4E | R34.12.31 | FgzE |mwmr+rsor| R04.01.01 | R05.01.01 | %%
Al3f2]0]1|&Es R05 30 4E | R35.12.31 | FgzE |mwmx+rsor| R05.01.01 | R06.01.01 | %%
Al3]2]|0|1|ERER R06 30 4F | R36.12.31 | BEHE |mmsvtxob| R06.01.01 | R0O7.01.01 K
Al 32| 0] 3 |EEEHRRE RO4 3| R7.12.31 | BEZE [mwmxrexob| R04.01.01 | R05.01.01 | #K
Al 32| 0] 3 |EEEHRRE RO5 34| R08.12.31 | BEZE [mm*rexob| R05.01.01 | R06.01.01 | #K
Al3[2]0] 3 |G R06 3| R9.12.31 | BEZE [mmxrexob| R06.01.01 | RO7.01.01 |  #K
Al5]|0[0] 1 [FRAEFEHBILRH H02 30 4 | R13.12.31 | BEEE |mmsviesob H14.01.01 | #&




Al5]0] 0] 1 (#AFRHEBIR HO3 30 4E [ R13.12.31 | BEIE [momxvexoh H14.01.01 | %%
Al5]0] 0] 1 (#AFRHEBIR HO04 30 4E [ R13.12.31 | BEIE ([momxvexoh H14.01.01 | %%
A[5]0] 0] 1 (#AFRHEBIR HO5 30 4E [ R13.12.31 | BEIE ([momxveioh H14.01.01 | %%
Al5]0] 0] 1 (#AFRHEBIR H06 30 4E [ R13.12.31 | BEIE [momxveioh H14.01.01 | %%
A[5]0] 0] 1 (#AFRHEBIR HO7 30 4E [ R13.12.31 | BEIE ([momxveioh H14.01.01 | %%
Al5|0]0] 1 (HAFRHERIRG Ho8 30 4E [ R13.12.31 | BEZE [momxveixoh H14.01.01 | %%
Al5]0] 0] 1 (#AFRHEBIR H09 30 4E [ R13.12.31 | BEZE [momxveixoh H14.01.01 | %%
Al5|0]0] 1 (HAFRHERIRG H12 30 4E [ R13.12.31 | BEZE [moaxveixoh H14.01.01 | %%
Al5]0] 0] 1 (HAFRHERIRG H15 30 4E [ R15.12.31 | BEZE [momxveixoh H16.01.01 | %%
Al5]0]0] 1 (#AFRHEBIRG H16 30 4E [ R16.12.31 | BEIE [momxveixoh H17.01.01 | %%
Al5]0] 0] 1 (HAFEHERIRAR H18 30 4F | R18.12.31 | BEHE |t ok H19.01.01 | %%
Al5|0] 0] 1 (HAFEHERIRAR H19 30 4 | R19.12.31 | BE3E |pisre ok H20.01.01 | %%
Al5]0] 0] 1 (HAFEHERIRGR H20 30 4 | R20.12.31 | BE3HE i ok H21.01.01 | %%
Al5]0] 0] 1 (HAFEHERIRGR H21 30 4 | R21.12.31 | BE3E it ok H22.01.01 | %%
Al5]0] 0] 1 (HAFEHERIRGR H22 30 4F | R22.12.31 | BE3E |piisre ok H23.01.01 | %%
Al5|0] 0] 1 (HAFEHERIRGR H23 30 4 | R23.12.31 | BE3HE |pisre ok H24.01.01 | %%
AlB|0]0] 1 (FEAFRHERBIRG H24 30 4F | R24.12.31 | BEZE |mm=veiok| H24.01.01 | H25.01.01 | #&
AlB|0]0] 1 (HEAFRHERBIRG H25 30 4 | R25.12.31 | BEZE |mm=veiok| H25.01.01 | H26.01.01 | #&
AlB|0]0] 1 (HEAFRHERBIRG H26 30 4F | R26.12.31 | BEZE |mm=veiob| H26.01.01 | H27.01.01 |  #&
AlB|0]0] 1 (HEAFRHEBIRG H27 30 4 | R27.12.31 | BEZE |mm=veiok| H27.01.01 | H28.01.01 |  #&
AlB|0]0] 1 (HEAFRHEBIRG H28 30 4 | R28.12.31 | BEZE |mm=veiok| H28.01.01 | H29.01.01 [  #&




Al5(0] 0] 1 [#AHEEBEILRH H29 30 4F | R29.12.31 | BEZE |smsrexok| H29.01.01 | H30.01.01 | %%
Al5(0] 0] 1 [HEAHEHEBEILRH H30 30 4F | R30.12.31 | BEZE |smsvexok| H30.01.01 | H31.01.01 | %%
Al5|0[0] 1 [FRAETEHBILRE RO1 30 48 | R31.12.31 | BEZE |momx+rxor| H31.01.01 | R0O2.01.01 |  #%
Al5| 0|01 [#AEFEHEEI R R02 30 4F | R32.12.31 | BEZE |smsrexok| R02.01.01 | R03.01.01 | %
A[5]0] 0|1 |HAEEHEERE RO3 30 4F | R33.12.31 | e |smsvexok| R03.01.01 | R04.01.01 | %
Al5|0[0] 1 [ FEHBILREH R04 30 4 | R34.12.31 | BEFE |smx+veivk| R04.01.01 | R05.01.01 [ %
Al5(0] 0| 1 (AR ERRE R05 30 4E | R35.12.31 | FE#E |smx+rxok| R05.01.01 | R06.01.01 | %
Al5(0] 0| 1 [HEEEERfRE R06 30 4E | R36.12.31 | FE#E |mmx+rxok| R06.01.01 | RO7.01.01 | %
Al5]10|0]| 4 (F0IRFMHArE HO02 30 4F | R13.12.31 | FEZE | iob H14.01.01 | %%
Al5[0] 0| 4S8 F e HO03 30 4E | R13.12.31 | BEZE |mmsrre o H14.01.01 | %%
A|5(0] 0|4 [FLIRFIFLPRE HO4 30 4E | R13.12.31 | BEZE |mmsrrexob H14.01.01 | %%
Al5]0| 0|4 [FLIEFMarndE HO05 30 4F | R13.12.31 | FE3E | ot H14.01.01 | %%
A|5(0] 0|4 [FLIRFIFLPRE HO06 30 4E | R13.12.31 | BEZE |msrrexob H14.01.01 | %%
A|5(0] 0|4 |FLIEFFLeRE HO7 30 4E | R13.12.31 | BEZE |msrrexob H14.01.01 | %%
Al5]0]| 0|4 [FLIEFarndE HO08 30 4F | R13.12.31 | FE3E | iob H14.01.01 | %%
A|5(0] 0|4 LRI PRE HO09 30 4E | R13.12.31 | BEZE |msrre o H14.01.01 | %%
A|5(0] 0|4 [FLIRFIFLPRE H10 30 4F | R13.12.31 | PBEEE |momsre ot H14.01.01 | %%
Al5]0|0]|4 AL e H11 30 4F | R13.12.31 | FEIE |mmervrsor H14.01.01 | %%
A|5(0] 0|4 [FLIRFIFLPRE H12 30 4F | R13.12.31 | PBEEE |momsre ot H14.01.01 | %%
A|5(0] 0|4 [FLIRFIFLPRE H13 30 4F | R13.12.31 | PBEEE |mmsre ot H14.01.01 | %
Al5]0| 0|4 [FLIREF e H14 30 4F | R14.12.31 | FEFE |mmervrsor H15.01.01 | %




LT BN ey RO e | 720 | RO RS
Al5]0]0]4 AL F1FLERE H15 30 4E [ R15.12.31 | BEIE [momxvexoh H16.01.01 | #&
Al5]0]0]4 AL F1FLERE H16 30 4E [ R16.12.31 | BEIE [momxvexoh H17.01.01 | #&
Al5]0]0]4 AL F1FLERE H17 30 4E | R17.12.31 | BEIE [momxveioh H18.01.01 | #&
Al5]0]0]4 AL FFLERE H18 30 4E [ R18.12.31 | BEIE [momxvreioh H19.01.01 | #&
Al5]0]0]4 AL FFLERE H19 30 4E [ R19.12.31 | BEIE [momxveioh H20.01.01 | #&
A5 0| 0] 4 [FEIRF1LLBRGE H20 30 4E [ R20.12.31 | BEZE [momxveixoh H21.01.01 | #&
A5 0| 0] 4 [EIRFLLBRGE H21 30 4E [ R21.12.31 | BEZE [momxveixoh H22.01.01 | #&
A5 0| 0] 4 [FEIRFLLBRGE H22 30 4E [ R22.12.31 | BEZE [momxveixoh H23.01.01 | #&
A5 0| 0] 4 [FEI-FLLBRGE H23 30 4E [ R23.12.31 | BEIE [momxveixoh H24.01.01 | &
Al5]0]0] 4 [ALIEF1FuLeRdE H24 30 4 | R24.12.31 | BEEFE |smx+vexok| H24.01.01 [ H25.01.01 [ %
A|5(0]0]| 4 [FLIRFIFLPRTE H25 30 4F | R25.12.31 | BEFE |smsrexoh| H25.01.01 | H26.01.01 | %
A|5(0]0]| 4 [FLIRFIFLPRTE H26 30 4F | R26.12.31 | PEZE |smsrexoh| H26.01.01 | H27.01.01 | %
A|5(0]0]| 4 [FLIRFIFLPRTE H27 30 4F | R27.12.31 | BEEE |smsvexob| H27.01.01 | H28.01.01 | %
A|5(0]0]| 4 [FLIRFIFLPRTE H28 30 4F | R28.12.31 | PEFE |smsrexok| H28.01.01 | H29.01.01 | %
A|5(0]0]| 4 [FLIRFIFLPRTE H29 30 4F | R29.12.31 | BEZE |smsvexok| H29.01.01 | H30.01.01 | %
A|5(0]0]| 4 [FLIRFIFLPRTE H30 30 4F | R30.12.31 | PEFE |smsvexok| H30.01.01 | H31.01.01 | %
A|5(0]0]| 4 [FLIRFIFLPRTE RO1 30 4F | R31.12.31 | BEZE |mmsrexok| H31.01.01 | R02.01.01 | #&
A|5(0]0]| 4 [FLIRFIFLPRTE R02 30 4F | R32.12.31 | BEZE |mmrexok| R02.01.01 | R03.01.01 | &
A[5]10]| 0|4 |IEIRFLEEE RO3 30 4F | R33.12.31 | BEZE |mm=rexok| R03.01.01 | R0O4.01.01 | &
A|5(0]0| 4 [FLIRFIRLPRTE RO4 30 4F | R34.12.31 | BEZE |mm=rexok| R04.01.01 | R05.01.01 | %
A|5(0]0| 4 [FLIRFIRLPRTE R05 30 4F | R35.12.31 | BEZE |mm=rexok| R05.01.01 | R06.01.01 | %




ORI 53 Tr A% BN ey RO e | 720 | RO RS
A5 0| 0] 4 [EIRFLLBRGE R06 30 48 | R36.12.31 | BEZE |mmx+rxor| R06.01.01 | RO7.01.01 | #%
Al5]0]0]|6|miRFERE H29 10 4 | R9.12.31 | BEZE [wixrexob| H29.01.01 | H30.01.01 |  #K
Al5]0]0]|6|miRFERE H30 10 4% [ R10.12.31 | BEZE [wixrexob| H30.01.01 | H31.01.01 |  #K
Al5]0]0]|6|miRFERE RO1 10 4% [ R11.12.31 | BEZE [wixrexob| H31.01.01 | R02.01.01 | #K
Al5]0]0]|6|miRFERE RO2 10 4 [ R12.12.31 | BEZE [wixrexob| R02.01.01 | R03.01.01 | #K
Al5|0]0[6 | IRGERE RO3 10 4E | R13.12.31 | FE=E [mmxvexok| R03.01.01 | R04.01.01 | &
Al5]|0[0]6[mikeEkiE R04 10 4E | R14.12.31 | FE=E [mmxvexok| R04.01.01 | R0O5.01.01 | &
Al5]|0[0]6[mikEEkiE R05 10 4E | R15.12.31 | FE=E [mmxvexok| R05.01.01 | R06.01.01 | &
Al5]|0[0]6[mikEEkiE R06 10 45 | R16.12.31 | FE=E [mmxvexok| R06.01.01 | RO7.01.01 | &
AlS5[O0f 1| 1 [rpHidE R04 34| R7.12.31 | BEIE |mm=vexob| R04.01.01 | R05.01.01 | #%
Al5[O0| 1|1 [rpHidE R05 34 | RO8.12.31 | BEZE |mm=+exob| R05.01.01 | R06.01.01 | %%
Al5]0| 1|6 |[KFE%ECEE R04 34 | R7.12.31 | BEFE |mmxvexob| R04.01.01 | R05.01.01 | #%
Al5]0| 1|6 [AKFEEEE R05 34 | RO8.12.31 | BEFE |mm=+exob| R05.01.01 | R06.01.01 |  #%
Al5]0| 1|6 |[AKFEEEE R06 34 | R9.12.31 | BEFE |mmxvexob| R06.01.01 | RO7.01.01 | #%
Al5]2]0] 2 [FEEU IR AFTE H14 30 4E | R14.12.31 | BEIE [momxexoh H15.01.01 | #&
Al5]2]0] 2 [FEEU IR AFTE H15 30 4E [ R15.12.31 | BEZE [momxvexoh H16.01.01 | %%
Al5|2]0] 2 [FEIU IR AFTE H16 30 4E | R16.12.31 | BEHE |mmsviesok H17.01.01 | #&
Al5|2]0] 2 [FEIU IR AFTE H17 30 4 | R17.12.31 | BEEE |mmsviesob H18.01.01 | #&
Al5|2]0] 2 [FEIU IR AFTE H21 30 4 | R21.12.31 | BEEE |mmsviesob H22.01.01 | #&
Al5|2]0]| 2 [FEIU IR AFTE H22 30 4 | R22.12.31 | BEEE |mmsvesob H23.01.01 | #&
Al5|2]0]| 2 [FEIU IR AFTE H23 30 4 | R23.12.31 | BEEE |mmsviesok H24.01.01 | #&




TERk

PRAT PRt

fitg 1%

TrAN

PRATHIE]

L g | PRIFHI TH | omE| M e | orER | Al
Al5([ 2|02 FERU I IRATE H24 30 4 | R24.12.31 | FEZE |momx+rsor| H24.01.01 | H25.01.01 | %%
Al5|2]0] 2GR IR AFTE H25 30 48 | R25.12.31 | BEZE |momxrxor| H25.01.01 | H26.01.01 |  #%
Al5([ 2|02 FERU I IRATE H26 30 4 | R26.12.31 | FEZE [momx+rwor| H26.01.01 | H27.01.01 | %%
Al5|2]0] 2GR IR 7R H27 30 48 | R27.12.31 | BEZE |momxrxor| H27.01.01 | H28.01.01 |  #%
Al5([ 2|02 FERU I IRATE H28 30 4F | R28.12.31 | FEZE [momx+rsor| H28.01.01 | H29.01.01 | %%
Als] 2] ol 2 [zEs g e H29 30 4E | R29.12.31 | pEzE |mmx+rxor]| H29.01.01 | H30.01.01 | %%
Al 5| 2| 0] 2 [FEI - OR A7 H30 30 4E | R30.12.31 | FEZE |smxrxok| H30.01.01 | H31.01.01 | %
Al 5| 2| 0] 2 [FE - OR A7 RO1 30 4 | R31.12.31 | FEZE |smx~rxok| H31.01.01 | R02.01.01 | %
Als] 2] ol 2 [zEs g e R0O2 30 4¢ | R32.12.31 | pE3E |mmx+rxor]| R02.01.01 | R03.01.01 | %%
Al 5| 2| 0] 2 [FE - OR A7 RO4 30 4E | R34.12.31 | FE#E |smx+rxok| R04.01.01 | R05.01.01 | %%
Al 5| 2| 0] 2 [FEIL - OR AT RO5 30 4£ | R35.12.31 | pE#E |mms+rxor| RO5.01.01 | R06.01.01 | #%
Al 5| 2| 0] 2 [FEAL - OR A7 R06 30 4£ | R36.12.31 | pE#E |mmsrxor| R06.01.01 | RO7.01.01 | #%
Al5|2]0]| 3 |FEIU A BRE H12 30 4F [ R13.12.31 | BEIE [momvetoh H14.01.01 [ %
Al5| 2|03 [FE (5 P H14 30 4F | R14.12.31 | BEZE [mmveiob H15.01.01 | &%
Al5|2]0] 3 |FEIU A BRE H15 30 4F [ R15.12.31 | BEIE [momvetoh H16.01.01 [ &%
Al5|2]0] 3 |FEIU A BRE H16 30 4F [ R16.12.31 | BEIE [momvetoh H17.01.01 [ &%
Al5] 2] 0|3 [FEI 145 P g H17 30 4F | R17.12.31 | BEFE [miidvre ok H18.01.01 | &
Al5| 2|03 (R 14 e H19 30 4F | R19.12.31 | BEZE [momre ok H20.01.01 | &
Al5] 2] 0|3 [FEI 145 P g H21 30 4F | R21.12.31 | BEFE [miidvre ok H22.01.01 | &
Als| 2] ol 3 [zEaupres s H22 30 4F | R22.12.31 | BEFE ([momsviixon H23.01.01 [ &%
Als| 2] ol 3 [zEaupres s H23 30 4F | R23.12.31 | BEFE ([momsveixon H24.01.01 [ &%




ORI 53 Tr A% BN ey RO e | 720 | RO RS
Al5|2]0]| 3 |FEU - BRIE H24 30 48 | R24.12.31 | BEZE |momxrxor| H24.01.01 | H25.01.01 |  #%
Al 5| 2| 0] 3 [FEIL (- B H25 30 48 | R25.12.31 | BEZE |momxrxor| H25.01.01 | H26.01.01 |  #%
Al5|2]0]| 3 |FEU - BRIE H26 30 48 | R26.12.31 | BEZE |momxrxor| H26.01.01 | H27.01.01 |  #%
Al 5| 2| 0] 3 [FEIL (- B RO4 30 48 | R34.12.31 | BEZE |momxrxor| R04.01.01 | R05.01.01 | #%
Al 5| 2| 0] 3 [FEIL (A B R05 30 48 | R35.12.31 | BEZE |momxrxor| RO5.01.01 | R06.01.01 | #%
Al 5| 2]0] 3 |FEIU - BRIE R06 30 4% | R36.12.31 | BEZE |mm=veiob| R06.01.01 [ RO7.01.01 [ #&
Al 5| 2| 0] 4 [FESL 125 Sk H12 30 4E [ R13.12.31 | BEZE [momxveixoh H14.01.01 | #&
Al 5| 2| 0] 4 [FESL 15 Sk H15 30 4E [ R15.12.31 | BEZE [momxveixoh H16.01.01 | #&
Al 5| 2| 0] 4 FEIL 125 Sk H16 30 4E [ R16.12.31 | BEIE [momxvexoh H17.01.01 | #&
Al 5| 2| 0] 4 [FEIL 125 Sk H17 30 4E [ R17.12.31 | BEZE [momxveixoh H18.01.01 | #&
Al 5| 2| 0] 4 GRS 125 Sk H18 30 4E [ R18.12.31 | BEFE ([momxvrexoh H19.01.01 | #&
Al 5| 2| 0] 4 GRS 125 Sk H19 30 4E [ R19.12.31 | BEZE [momxvrexoh H20.01.01 | %%
Al 5| 2| 0] 4 GRS 125 Sk H20 30 4E [ R20.12.31 | BEFE [momxexoh H21.01.01 | %%
Al 5| 2| 0] 4 GRS 125 Sk H21 30 4E [ R21.12.31 | BEIE [momxvexoh H22.01.01 | #&
Al 5| 2| 0] 4 GRS 125 Sk H22 30 4F | R22.12.31 | BEIE [momxvexoh H23.01.01 | %%
Al 5| 2| 0] 4 GRS 125 Sk H23 30 4F [ R23.12.31 | BEIE [momxveixoh H24.01.01 | %%
Al 5[ 2] 0] 4 [FEM 155 Sk T8 H24 30 4F | R24.12.31 | BEZE |smsrexob| H24.01.01 | H25.01.01 | %
Al 5[ 2] 0] 4 [FEM 155 bR 18 H25 30 4F | R25.12.31 | BEZE |smsrexob| H25.01.01 | H26.01.01 | %
Al 5[ 2] 0] 4 [FEM 155 bR 18 H26 30 4F | R26.12.31 | BEZE |smsrexob| H26.01.01 | H27.01.01 | #%
Al 5[ 2] 0] 4 [FEM 155 bR 18 H27 30 4F | R27.12.31 | BEZE |smsrexob| H27.01.01 | H28.01.01 | %
Al 5[ 2] 0] 4 [FEML 155 bR 18 H28 30 4F | R28.12.31 | BEZE |mmsrexob| H28.01.01 | H29.01.01 | %




Al5] 20| 4 [FER S kR & H29 30 4F | R29.12.31 | BEZE |smsrexok| H29.01.01 | H30.01.01 | %%
Al 5| 2| 0] 4 [FESL 15 Sk H30 30 48 | R30.12.31 | BEZE |momx~rxor| H30.01.01 | H31.01.01 | #%
Al 5[ 2] 0] 4 [FEHU 155 b RO1 30 48 | R31.12.31 | BEZE |momx+rxor| H31.01.01 | R0O2.01.01 |  #%
Al5]2]|0]| 4 [FERI S SR & R02 30 4F | R32.12.31 | BEZE |smsrexok| R02.01.01 | R03.01.01 | %
Al5]2]0]|4 |FEILESE kR RO3 30 48 | R33.12.31 | BEZE |momx+rxor| RO3.01.01 | R04.01.01 | #%
Al 5| 2| 0] 4 [FEILI 12 ik RO4 30 4E | R34.12.31 | FE#E |smx+rxok| R04.01.01 | R05.01.01 | %%
Al 5| 2| 0] 4 [FESLI 128 ik R05 30 4E | R35.12.31 | FE#E |smx+rxok| R05.01.01 | R06.01.01 | %
Al 5[ 2] 0] 4 [FEM 155 Sk 18 R06 30 4E | R36.12.31 | FE#E |mmx+rxok| R06.01.01 | RO7.01.01 | %
Al5] 2] 0|5 [FEML M H Ak iE H12 30 4F | R13.12.31 | FEZE | iob H14.01.01 | %%
Al 5| 2| 0] 5 [FESLA 1 H H14 30 4E [ R14.12.31 | BEZE [momxvexoh H15.01.01 | #&
Al 5[ 2] 0|5 FEMH:H S H15 30 4E | R15.12.31 | BEZE |mmsrreiob H16.01.01 | %%
Al5]2]| 0|5 [FEMU - H Ak dE H16 30 4F | R16.12.31 | FE3E | iob H17.01.01 | %%
Al 5| 2| 0] 5 [FESLA 1 H e H17 30 4E [ R17.12.31 | BEIE [momxsexon H18.01.01 | #&
Al 5[ 2] 0|5 [FEMH: H A H18 30 4E | R18.12.31 | BEZE |mmsrrexob H19.01.01 | %%
Al 5| 2| 0|5 [FEIL M- H A i H19 30 4F | R19.12.31 | BEFE |mfisveiob H20.01.01 | %%
Al 5| 2| 0] 5 [FESLA 1 e H21 30 4E | R21.12.31 | B |mmsvesok H22.01.01 | %%
Al 5| 2| 0] 5 [FEHL {4 H e H22 30 4F | R22.12.31 | BEEHE |mmsre ok H23.01.01 | %
Al 5| 2| 0] 5 [FEHL {4 H e H23 30 4F | R23.12.31 | BEEHE |mmsre ok H24.01.01 | %
Al5]2]| 0|5 [FESLH: H ki H24 30 4E | R24.12.31 | BE=E |smsrexok| H24.01.01 | H25.01.01 | %%
Al5] 2| 0|5 [FERLH: H Ak H25 30 4E | R25.12.31 | FgzE |mmrvrson| H25.01.01 | H26.01.01 | %%
Al 5| 2| 0] 5 [FEHL {4 H e H26 30 47 | R26.12.31 | BEFE |mm=veiob| H26.01.01 [ H27.01.01 [ #&




Al 5| 2| 0] 5 [FESA 14 H A H27 30 45 | R27.12.31 | BESE |sm=vexob| H27.01.01 [ H28.01.01 [ &
Al 5[ 2]0]| 5 [FEHI: H AR H28 30 4 | R28.12.31 | BEZE |smsrexok| H28.01.01 | H29.01.01 | &
Al 5[ 2]0]| 5 [FEHL I H AR H29 30 4 | R29.12.31 | BEZE |somsrexok| H29.01.01 | H30.01.01 | &
Al 5| 2| 0] 5 [FES 1 H A H30 30 4= | R30.12.31 | BEFE |sm=vexob| H30.01.01 [ H31.01.01 [ &
Al 5[ 2]0]| 5 [FEHL I H AR RO1 30 45 | R31.12.31 | BEZE |smsrexok| H31.01.01 | R02.01.01 | &
Al 5[ 2]0]| 5 [FEH I H AR E RO2 30 4F | R32.12.31 | BE=E |smsvexok| R0O2.01.01 | R03.01.01 | %
Al 5] 2] 0|5 |GERL 1 H RS RO3 30 4E | R33.12.31 | FE#E |mmx+rxok| R03.01.01 | R04.01.01 | %
Al 5[ 2] 0|5 [FEMA I H A RO4 30 4E | R34.12.31 | FE#E |smx+rxok| R04.01.01 | R05.01.01 | %
Al 5[ 2]0]| 5 [FEH I H AR E R05 30 4E | R35.12.31 | BE=E |smsrexok| R05.01.01 | R06.01.01 | %
Al 5[ 2]0]| 5 [FEHL I H AR E R06 30 4F | R36.12.31 | e |smsvexok| R06.01.01 | RO7.01.01 | %
Al5]2|0]6|[HERAMREHERSEEHE H27 10 45 | R7.12.31 | pE#E |semerewor| H27.01.01 | H28.01.01 | %%
Al5[ 206 (A RIFREIE RS H4% P i H28 10 46 | R8.12.31 | pE#E |semeresor| H28.01.01 | H29.01.01 | #%
Al5]2]0] 6 HEA GRS E IR HAE PR H29 10 4% | R9.12.31 | BEZE ([msmrveior| H29.01.01 | H30.01.01 | #K
Al5]2]0] 6 HEA GRS E IR HAE PR H30 10 4 [ R10.12.31 | BEZE [memrvesor| H30.01.01 | H31.01.01 | #K
Al5]2]0]|6 [ HAERIRFHIRS EEHE RO1 10 4F | R11.12.31 | BEZE |memrvesoh H31.01.01 | R02.01.01 [
Al5|2|0]6 [REMRFHERS ELHE RO2 10 4 | R12.12.31 | BEHE [mmsretor| R02.01.01 | R03.01.01 [ &
Al5]2]0]| 6 |[RERRFHIRS B BLE R04 10 4F | R14.12.31 | peze |mwmserior| RO4.01.01 | R05.01.01 | &
Al5[2[0]6 AT TR RO5 10 4 | R15.12.31 | Bz |emevesor| R05.01.01 | R06.01.01 | #%
Al5[2[0]6 AT TR RO6 10 4 | R16.12.31 | Bz [mmrresor| R06.01.01 | ROT.01.01 | #%
Al5(2]0]|7 [HEREBRFERMSERME H27 10 48 | R7.12.31 | BesE |memercsor| H27.01.01 | H28.01.01 | %%
Al5] 2] 0] 7[IRABIR AR R IEE H28 10 48 | R8.12.31 | BESE [memevcion| H28.01.01 | H29.01.01 | 4§




) T AN BN ey RO e | 720 | RO RS
Al5[2(0|7 (HARMRFHEMSEIRM - H29 10 45 | R9.12.31 | BEZE |[smm+eaor| 129.01.01 | H30.01.01 |  #%
Al5[2(0|7 (HRARRFHEMSEIM - H30 10 4E | R10.12.31 | BEZE [mmm=reaor| 130.01.01 [ H31.01.01 | %
Al5[2(0|7 (HARRFHEMSEIRM - RO1 10 4E | R11.12.31 | BEZE [mmm=+eaor| 1H31.01.01 [ R02.01.01 |  #&%
Al5[2(0|7 (HRARRFHEMSEIM - RO2 10 4E | R12.12.31 | BEZE [smm=+eaor| R02.01.01 [ RO3.01.01 | #&%
A5 2| 0|7 |HEBRFHERSERIIE RO3 10 4E | R13.12.31 | BEZE [smm=+eaor| RO3.01.01 [ RO4.01.01 | %K%
Al5|2]0]| 7 [HEAREFR S EIR S E I8 RO4 10 4E | R14.12.31 | BEZE [smm=+raor| R04.01.01 [ RO5.01.01 | #&%
Al5|2]0]| 7 [HEAREFR S IEIR S EIE 108 RO5 10 4E | R15.12.31 | BEZE |[smm=+raor| R05.01.01 | R06.01.01 | #&%
Al5|2]0]| 7 [HEAREFREEIRS E I8 R06 10 4£ | R16.12.31 | BEZE [msvrxob| R06.01.01 | R0O7.01.01 |  #%
Al 5] 2| 0] 8 |EEFMF ARG R04 34E | R7.12.31 | BEZEE |[sowsrrxob| R04.01.01 | R05.01.01 | #%
Al 5] 2| 0] 8 |HEEFMHF ARG RO5 3 4 | R08.12.31 | BEZE [msrrxob| R05.01.01 | R06.01.01 | #%
Al5]2]0]9 |EEFEM MHRERERK R04 34E | R7.12.31 | BEZE [msvrxob| R04.01.01 | R05.01.01 | #%
Al 5] 2[0]9|EEFEHMREREE R0O5 34 | R08.12.31 | FEFE [mmer+rrsob| R05.01.01 | R06.01.01 | #%
Al5]2]0]9 |EEFEM mHRERERK RO6 34E | R9.12.31 | BEZEE [msvrxob| R06.01.01 | RO7.01.01 |  #%
Al5|2] 1|3 |FTRHREEE H27 10 46 | R7.12.31 | BEZE |semevesor| H27.01.01 | H28.01.01 | #%
Al5|2] 1|3 |FTRHRE =& H28 10 46 | R8.12.31 | pE#E |smmeresor| H28.01.01 | H29.01.01 | #%
Al5|2] 1|3 |FTRHRE =& H29 10 46 | R9.12.31 | BEZE |semevesor| H29.01.01 | H30.01.01 | #%
Al 5| 2| 1] 3|ATF RS FEHHE H30 10 4F | R10.12.31 | BE#E [msmeroxor| H30.01.01 | H31.01.01 | #%
Al 5| 2| 1] 3|ATF RS FEHHE RO1 10 4F | R11.12.31 | BE#E [msmeroxor| H31.01.01 | RO2.01.01 | #%
Al 5| 2| 1] 3|ATF RS FEHHE R02 10 4F | R12.12.31 | BE#E [msmeroxor| R02.01.01 | R03.01.01 | #%
Al5| 2| 1| 3 |mTF R EE P RO3 10 4F | R13.12.31 | BEZE [memevesor| RO3.01.01 | R04.01.01 | ¢
Al 5| 2| 1] 3[ATF RS FEHE RO4 10 4F | R14.12.31 | BEZE [memsvesor| R04.01.01 | R05.01.01 | ¢




Al5] 2] 1|3 (AR EEHLE RO5 10 4£ | R15.12.31 | pE#E |semsrewor| R05.01.01 | R06.01.01 | %%
Al5( 2] 1] 3 |[FIFHFRSEEHE R06 10 4E | R16.12.31 | Bg#E [mmx+vrxor| R06.01.01 | RO7.01.01 | #E
Al 5| 2| 1] 4|aTF RS ERME H27 10 45 | R7.12.31 | BEZE |msem=rexor| H27.01.01 [ H28.01.01 | &
Al5| 2| 1] 4 |FTFRSERE H28 10 46 | R8.12.31 | pE#E |memsrewor| H28.01.01 | H29.01.01 | %%
Al5| 2| 1] 4 |FTFRSERE H29 10 46 | R9.12.31 | BEZE [mmme+esor| 1129.01.01 | H30.01.01 |  #%
Al5[ 2] 1]4(aiRRESERME H30 10 4E | R10.12.31 | pg#E [msemsrexor| H30.01.01 | H31.01.01 | #&
Al5[ 2] 1]4([aiRRESERME RO1 10 48 | R11.12.31 | pg#E [msemsrexor| H31.01.01 | RO2.01.01 | %%
A5 2] 1| 4|ATRHIR ERME R02 10 47 | R12.12.31 | JEZE |mmmevesor| R02.01.01 | R03.01.01 | #E
Al 5| 2] 1|4|fTFEEEIMHE R03 10 48 | R13.12.31 | pg#E [msemsrexor| RO3.01.01 | RO4.01.01 | #E
Al5[ 2] 1] 4RSI ME R04 10 4E | R14.12.31 | pg#E [msemsrexor| R04.01.01 | RO5.01.01 |  #E
Al5 | 2| 1|4 AR RS ER R05 10 4 | R15.12.31 | BEZE [mswms+resor| R05.01.01 | R06.01.01 |  #&
Al 5| 2| 1] 4 |FiTFH RS ER R06 10 4F | R16.12.31 | BEHE [mmsrexob| R06.01.01 | RO7.01.01 |  #%
Al 52| 1] 5|5 Lt sl H27 10 4 | R7.12.31 | BEZE [memrvesor| H27.01.01 | H28.01.01 | #K
Alb| 2] 1|55 LiERSEEHE H28 10 47| R8.12.31 | BEFE [memxvexor| H28.01.01 [ H29.01.01 [ #K
Al5| 2] 1|5 |H LIRS EEHE H29 10 4 | R9.12.31 | BEFE [mswmerexok| H29.01.01 [ H30.01.01 | #&
Al5) 2| 1] 5|5 LAt sl H30 10 4 [ R10.12.31 | BEZE [msmrvesor| H30.01.01 | H31.01.01 | #%
A5 2| 1|5 bl R A RO1 10 4E | R11.12.31 | BESE |memsveiot| H31.01.01 | RO2.01.01 | 4§
A5 [ 2] L] 5|5 Il T B RO2 10 48 | R12.12.31 | BgsE |semeverr| R02.01.01 | R03.01.01 | #%
Alo[ 2| L] 5 [ BRI T SR RO3 10 4E | R13.12.31 | BESE |memsveior| RO3.01.01 | RO4.01.01 | 4§
A[5]2[1]5 | BilE R HHRE RO4 10 4F | R14.12.31 | BEZE |mewmsresor| RO4.01.01 | R05.01.01 | €
A5 2] L] 5|5 Ll T RO5 10 48 | R15.12.31 | B3 |semsverr| R05.01.01 | R06.01.01 | %




Al5|2]| 1|5 |F LRSS EEHE R06 10 4E | R16.12.31 | pg#E [mmx+vrxor| R06.01.01 | RO7.01.01 | %
Al5|2] 1|65 LA ERIRE H27 10 45 | R7.12.31 | BEZE |[smm=reaor| 1H27.01.01 [ H28.01.01 |  #&%
Al5|2]1]6|5H LA ERIE H28 10 45 | R8.12.31 | BEZE |[mmmrraor| 128.01.01 [ H29.01.01 | #%
Al5|2]1]6|5H LA RSERIE H29 10 45 | R9.12.31 | BEZE |[smm+raor| 129.01.01 | H30.01.01 | %
Al5|2]1]6|5H LA RSERIE H30 10 4E | R10.12.31 | BEZE [mmm=+eaor| 130.01.01 [ H31.01.01 | %
Al5|2]1]6|5H EERSERIE RO1 10 4E | R11.12.31 | BEZE [sem+raor| 1H31.01.01 [ R02.01.01 | #&%
Al5| 2] 1|6 LRSS ERMAE R02 10 45 | R12.12.31 | pe#E |semerewr| R02.01.01 | R03.01.01 | %%
A5 | 2| 1|65 it ER I R0O3 10 45 | R13.12.31 | BEZE |mwm=vresor| R03.01.01 | RO4.01.01 | #E
Al5|2]1]6 | LRSS ERMAE RO4 10 4E | R14.12.31 | pg#E [msemsrexor| R04.01.01 | RO5.01.01 |  #E
Al5[2|1)6 |5 AT R EIRITE RO5 10 48 | R15.12.31 | FEsE |memsresor| RO5.01.01 | R06.01.01 | %
Alb|2] 1|65 LiERESERIRE R06 10 4£ | R16.12.31 | FEZE [msvrxob| R06.01.01 | R0O7.01.01 |  #%
Al5|2|1|7|EIA# H27 10 48 | R7.12.31 | BEZE |memsveror| H27.01.01 | H28.01.01 | %%
Al5| 2] 1|7 |BIAR H28 10 4 | R8.12.31 | BEFE [mswmxrexok| H28.01.01 [ H29.01.01 | #&
Al5] 2] 1|7 |BIAR H29 10 45 | R9.12.31 | BEFE |mmmarexor| H29.01.01 | H30.01.01 a%
Al5|2|1|7|EIA# H30 10 48 | R10.12.31 | FE=E |memsveror| H30.01.01 | H31.01.01 | %%
Al5|2|1|7|EIA# RO1 10 4F | R11.12.31 | BEHE |ssm=resor| H31.01.01 | R02.01.01 | #%
A[S] 2| 1] 7 [RIAE RO2 10 4E | R12.12.31 | BESE |memsreior| RO2.01.01 | R03.01.01 | 4§
Al5[ 2] L] 7 [RIAH RO3 10 48 | R13.12.31 | BsE [emsvern| R03.01.01 | R04.01.01 | #%
Al5|2| 1|7 |EIA# RO4 10 4F | R14.12.31 | BEHE |msmevesor| R04.01.01 | R05.01.01 | #%
Als|2|1|7|EIAR RO5 10 4E | R15.12.31 | BEHE |smm=rexor| R05.01.01 | R06.01.01 | %
AlS] 2| 1| T|RIARE RO6 10 48 | R16.12.31 | B3 |mmsrvesor| R06.01.01 | ROT.01.01 |  #%




A5 2[4] 1 [8E -SREFLEE B R04 54 | R9.12.31 | BEZE [wmxrrxob| R04.01.01 | R05.01.01 | #K
Al 5] 2] 4] 2|83 SRzt ek mE R04 54 | R9.12.31 | BEZE [wmxrrxob| R04.01.01 | R05.01.01 | #K
Al 5] 2] 4] 3|8 SRk s R04 54 | R9.12.31 | BEZE [wmxrrxob| R04.01.01 | R05.01.01 | #K
A5 2[4] 1 [8%E -SREFLEE L RO5 54 | R10.12.31 | BEZE [wm*rexob| R05.01.01 | R06.01.01 | #K
Al5] 2] 4] 2|8 SRzttt mE RO5 54 | R10.12.31 | BEZE [wm*rexob| R05.01.01 | R06.01.01 | #K
Al5[2]4] 3 [#E -k FLER SR TE R05 5 4F | R10.12.31 | BEFHE |smr+r vk R05.01.01 | R06.01.01 | %
Al5[2]4]3 [#E -k FLER SR TE R06 54F | R11.12.31 | BEFE |mmrvriok| R06.01.01 | RO7.01.01 | %
A[5]5]0]| 1 (& EHERM LB H15 30 4F | R15.12.31 | BEZE [mmaeok H16.01.01 | %
Al5|5|0]| 1 [#EFEEHERLELE H16 30 4F | R16.12.31 | FEZE |misrve ot H17.01.01 | %%
A[5]5]0]| 1 (& BHERM LB HI18 30 4F | R18.12.31 | BEZE [mmxeok H19.01.01 | &
A[5[5[0|1 (B EHER L i H22 30 4F | R22.12.31 | BEZE [mmxeok H23.01.01 | &
Al5]5|0] 2 |8 EEitE (%) kK H29 30 48 | R29.12.31 | pE#E |mmrxor| H29.01.01 | H30.01.01 |  #%
Al5]5|0] 2 |8 EEitE (%) kK H30 30 45 | R30.12.31 | FEsE |mm=vexor| H30.01.01 | H31.01.01 | %%
A[5]5]0] 2 |#EEEFEE (1) & RO1 30 45 | R31.12.31 | FEsE |mm=vexor| H31.01.01 | RO2.01.01 | %%
Al5]5|0] 2 |8 EEitE (%) kK R0O2 30 4E | R32.12.31 | FEZE [mm=vexor| R02.01.01 | RO3.01.01 | %%
Al5|5]| 0|2 |8 EEstE (35 & RO3 30 4E | R33.12.31 | FEsE [mm=vexor| R03.01.01 | RO4.01.01 | %%
A|5(5] 0|2 |EEEtE () & RO4 30 4F | R34.12.31 | FEzE [mmsvrsor| R04.01.01 | R05.01.01 | %
A|5(5] 0|2 |EEEtE () & R05 30 4F | R35.12.31 | FEzE [mmsrrsor| R05.01.01 | R06.01.01 | %
Al5|5|0] 2|8 ENREE (1) R06 30 4F | R36.12.31 | FEzE [mmsvrsor| R06.01.01 | RO7.01.01 | %%
A|5[5] 1] 1 [EXEVIERMBIAR KL OVFRBEA RS BB | H29 |wwmmiriss 5 4F [ R4.12.31 | BEEHE |mmsreixokb| H29.01.01 | H30.01.01 | %
A5 5| 1] 1 [EEEVRSREHAR I OB GRS B BRE | H30 [wewmerese 5 4F [ R5.12.31 | BEIE |®Mxvcxoh| H30.01.01 | H31.01.01 | #&%




A5 5| 1] 1 |EZXVRIBEER L VEARBUARE & HE | ROL |wewmeress 5 45 | R6.12.31 | BEFE |mxvrexob| H31.01.01 | R02.01.01 A&
A5 5| 1] 1 [EEEVRMR B R ARBAR RS B BRI | RO2 [mewmirens 5 4F [ R7.12.31 | BEIFE |[HM*vexok R02.01.01 | R03.01.01 | #K
Al5| 5] 1| 1 | ExX0BBEEAR K OVFEARBACRE B [ RO3 |rwmmirare 5 45 | R8.12.31 | BEHE [mmsrexob| R03.01.01 | R04.01.01 |  #E
A5 5| 1] 1 [EEEVRMR B R R A BRI E B BRI | RO4 [mewmierens 5 4F [ R9.12.31 | BEIE [HMxvexok R04.01.01 | R05.01.01 | K
A5 5| 1] 1 [EEEVRMR B R AR BR RS B BRI | RO5 [mewmirens 5 4F [ R10.12.31 | BEIE |HM*vexok R05.01.01 | R06.01.01 | K
Al5[5] 1|1 [EXEVIERER L OVFEARBARLRE & PRE | RO6 |mwwmierers 5 4 [ R11.12.31 | BEZE |psrexok| R06.01.01 | R0O7.01.01 | &
Al5| 5| 1] 2 [FETZRRE MR K QT A A8 6 R0O2 54 | R7.12.31 | pg=E |sme+rxor| RO2.01.01 | R03.01.01 | #%
Al 5[5 |12 |FEEEVRREIAA K O AR HERE 6 R0O3 54 | R8.12.31 | PBEHE |mAsvexoh| R03.01.01 | RO4.01.01 [ #K
A5 [5[ 1|2 [FEEVRMRR AR N O AR & R04 54 | R9.12.31 | BEZE [wm*rexob| R04.01.01 | R05.01.01 | #K
Al 5] 5| 1] 2 [EEEVRIRRR A K OUF A AR & R05 5 4 [ R10.12.31 | BEZE |mMx+exob| R05.01.01 | R06.01.01 | #&
A[5]5] 1|2 [FEEVRER R K ORI AR e 5 78 RO6 546 | R11.12.31 | Besie |smsrexok| R06.01.01 | RO7.01.01 | &%
Al 5|5 1] 3 |[EFEEZVHREEAFI N & H29 [memmerens 5 4F [ R4.12.31 | BEZE [mmsrvexor| H29.01.01 | H30.01.01 | #&
Al 5| 5| 1] 3 |[EFEZZVHREEAFI N & H30 [memmerens 5 4F [ R5.12.31 | BEZE [mMsvexor| H30.01.01 | H31.01.01 | #&
Al 5|5 1] 3 |[EZZV R EAFI N & RO1 [|wemmersrs 5 4F | R6.12.31 | BFEZE [mmsvexob| H31.01.01 | R02.01.01 |  #%
Al 5|5 1] 3 |[EZZV R EAFI N & RO2 |wmmmurers 5 4E | R7.12.31 | BFEZE [mm=vexob| R02.01.01 | R03.01.01 | #%
Al 5|5 1|3 |Fxxymsges R RO3 [mummerers 5 4E [ R8.12.31 | BEHE [mmx+rxor| R03.01.01 | R04.01.01 |  #%
A5 5] 1] 3 |EESVIGR LRI RO4 |wimmicrens 5 4% | R9.12.31 | BEZE [mmvesob| R0O4.01.01 | R0O5.01.01 | #E
Al 5] 5| 1] 3 [EE=VARMRZELAF A & RO5 [wmmmerers 5 4FE | R10.12.31 | FEHE [mms+esob| R05.01.01 | R06.01.01 |  #%
Al5| 5| 1] 4|REHE7 7 AL FCEkE H29 |mummerenrs 5 4E | R4.12.31 | BEIE [sfrexob| H29.01.01 | H30.01.01 |  #%
Al5[5| 1|4 [EEgE77A Vo H30 |memmicrins 5 4F | R5.12.31 | BEFE |mm=veaok| H30.01.01 | H31.01.01 | %
A[5]5] 1|4 g7 7L eiikiE RO1 |wwmmserens 5 4% | R6.12.31 | BEFE [KMrveior H31.01.01 [ R02.01.01 | K




A5 5| 1] 4 [Emig> 7 AL il RO2 |wmmmicrers 5 45 | R7.12.31 | BEZE [msrexob| R02.01.01 | R03.01.01 | #&
Al5| 5] 1|4 ]|HEig7 7 ileE RO3 |wmmmicrers 5 45 | R8.12.31 | BEZE [misreiob| R03.01.01 | R04.01.01 | #&
A5 5| 1] 4 [Emig> 7 A/ aliskE RO4 |wmmmicrers 5 45 | R9.12.31 | BEZE [msreiob| R04.01.01 | R05.01.01 | #&
Al 5| 1] 4 FE1ET 7 AL ilekiE RO5 |wemmerens 5 45 | R10.12.31 | BEZE |Bx+exvk| R05.01.01 | R06.01.01 A
Al 5| 5] 1|5 [EARBATENFHE R02 54F | R7.12.31 | BE#EE |mwssrciok| R02.01.01 | R03.01.01 | %
Al 5|5 1|5 |EAEEAR T4 N F] RO3 54F | R8.12.31 | BEFHE |mmr+rivk| R03.01.01 | R04.01.01 | %
Al 5|5 1|5 AL 4 F & R04 54F | R9.12.31 | BEFHE |mmrvc vk R04.01.01 [ R05.01.01 | &
Al 5|5 1|5 [JEABLA T4 F & R05 5 4F | R10.12.31 | BEFHE |mmr+r ok R05.01.01 | R06.01.01 | %
Al 5|5 1|5 [JFEABLA T4 NF & R06 54F | R11.12.31 | BEFE |mms+e ok R06.01.01 | RO7.01.01 | %
Al 5| 5] 1|6 [JFEABLAT 4405 H & R02 54F | R7.12.31 | BEFE |mmrvciok| R02.01.01 | R03.01.01 | %
A[5|5] 1|6 [FEABART &M RO3 54| R8.12.31 | BEFE [Wf=veish| R03.01.01 | R04.01.01 [ %
Al 5[ 5] 1|6 [JFEABLAST 4405 H & RO4 54F | R9.12.31 | BEFHE |mmvcivk| R04.01.01 | R05.01.01 | %
Al 5[ 5] 1|6 AL 440 H & R05 5 4F | R10.12.31 | BEFHE |smsr+r vk R05.01.01 | R06.01.01 | %
Al 5[ 5] 1|6 AL 440 H & R06 54F | R11.12.31 | BEFHE |smrveivk| R06.01.01 | RO7.01.01 | %
A|5[5] 1|7 |FIEIVERRE B R02 54F | R7.12.31 | BEZFE |mmxvrexokb| R02.01.01 [ R0O3.01.01 | %
Al5| 5] 1|7 |FIEERE B & RO3 54 | R8.12.31 | BEZE [mwmxrexob| R03.01.01 | R04.01.01 | #K
A5 [5| 1|7 (FIE{ERSE B RO4 54 [ R9.12.31 | PBEHE |sfMsvexoh| R04.01.01 | R05.01.01 [ #K
Al 5| 5| 1] 7 [EIEifERE BRE RO5 54 | R10.12.31 | BEZE [mm*rexob| R05.01.01 | R06.01.01 | #K
Al 5| 5| 1] 7 [EIEifERE BRE R06 54 | R11.12.31 | BEZE [wmxrexob| R06.01.01 | RO7.01.01 | #K
A5 |53 1 [Adyif R (BERAL IR HIH ) 18 50 R04 34 | R7.12.31 | BEZE [mmrexor| R04.01.01 | R05.01.01 |  #%
A5 |53 1 [Adyif R (BERAL IR HIH ) 18 50 R0O5 34 | R08.12.31 | BEZE [mm=rexob| R05.01.01 | R06.01.01 | #%




Al5] 5] 4|1 [FBREEEEER (E25) = () i RO4 10 4¢ | R14.12.31 | FEHE |smsveior| R04.01.01 | R05.01.01 | #%
Al5] 5] 4|1 [FBREEEEER (E2) = () i RO5 10 4¢ | R15.12.31 | BEHE |smsveior| R05.01.01 | R06.01.01 | #%
A5 5] 4|1 [BIBHEEALA (H12) & (159) #% RO6 10 4F | R16.12.31 | BEZE M=~ xok| R06.01.01 | RO7.01.01 [ #&
Al 60| 0] 2|ziBsE Sl B B R R RO2 54 | R7.12.31 | BEZE [mm=+exok| R02.01.01 | R03.01.01 | #&%
Al 6|0[0]2|5I8A CHl 2 EHRBILREE RO3 54E | R8.12.31 | BEZE [mowsrrxob| R03.01.01 | R04.01.01 | #%
Al 6(0]0]2|ZiEIE L FHB LR BRI RO4 54 | R9.12.31 | BEZE [mms+exor| R04.01.01 | R05.01.01 | #¢
Al 6[0]0]2|ZiEIE L FH LR BRI R05 54 | R10.12.31 | BEZE |mms+exor| R05.01.01 | R06.01.01 | ¢
Al 6[0]0]2|2BIE L FH il 5 BLR % R06 54 | R11.12.31 | BEZE |mms+exor| R06.01.01 | RO7.01.01 |  #¢
Al 6[0]0] 5 |ZRiEZEE) B LR RO4 3A4F | R7.12.31 | BEZFE |mmrvexok| R04.01.01 [ R05.01.01 | &
A|6]0|0]5 |siEZ4nEB BIFRTR R05 34F | R8.12.31 | BEHE |wMrrexob R05.01.01 | R06.01.01 | #&
Al 6]0] 0|5 |21 7Z A EE) BIFRAR R06 34E | R9.12.31 | BEZE [Wmertixob| R06.01.01 | RO7.01.01 [ #E
Al6]0[0]9|zmfEEktEmEHR RO4 3| R7.12.31 | BEZE [mwmxrexob| R04.01.01 | R05.01.01 | #K
Al6[0]0|9|ZiEFRE MG @R RO5 34F | R8.12.31 | FEFE |mmvexok| R05.01.01 [ R06.01.01 | %
A[6[0[0[9 [s2imFEEHF R06 34| R9.12.31 | PBEHE |WMsvexoh| R06.01.01 | RO7.01.01 [ #K
A6 1| 1] 0[5 mmmdE () R R0O2 54 | R7.12.31 | BEZE [wmxrexob| R02.01.01 | R03.01.01 | #K
Al 6] 1| 1|0 |&EHEEEJ5E) % RO3 54F | R8.12.31 | BEFE |mmxvrexok| R03.01.01 [ R0O4.01.01 | %
A[6[ 1] L]0 & () R04 545 | R9.12.31 | BesE |mmeveoh| ROA.01.01 | R05.01.01 | %
A6 1] L]0 [ (5 8% R05 545 | R10.12.31 | BesE |smveoh| RO5.01.01 | R06.01.01 | %
A[6] L] L[ O (%) RO6 54 | R11.12.31 | BEsE |mmevesor| R06.01.01 | ROT.01.01 | %
A[6[ 1] L] 1 [REEEAA i R02 54 | R7.12.31 | BEsE |mmsevesor| RO2.01.01 | RO3.01.01 | &
s I R R R S R RO3 54F | RS.12.31 | BEZE |mmveok| R03.01.01 | RO4.01.01 | %




) T AN BN ey RO e | 720 | RO RS
Al 6| 1| 1] 1 [REREAT 4 R RO4 54 | R9.12.31 | BEZE [mms+exor| R04.01.01 | R05.01.01 | #&
Al6] 1] 1] 1 [REEREA 4 % RO5 54 | R10.12.31 | BEZE |mm=+exsk| R05.01.01 | R06.01.01 | #&%
Al6] 1] 1] 1 [REEREA 4 % RO6 54 | R11.12.31 | BEZE [mm=+exok| R06.01.01 | RO7.01.01 | %%
Al 6| 1| 1]6 [R5 (REGIFT) £ R0O2 54 | R7.12.31 | BEZE [sowsrrxob| R02.01.01 | R03.01.01 | #%
Al6| 1|16 |8m&EEE (RBEIRF) #% RO3 54E | R8.12.31 | BEZE [mowsrrxob| R03.01.01 | R04.01.01 | #%
Al 6] 1| 1] 6|2 REGIFT) # RO4 54 | R9.12.31 | BEZEE [mwsrrxob| R04.01.01 | R05.01.01 | #%
Al 6] 1| 1] 6| EE (REGIFT) £ RO5 5 4F | R10.12.31 | BEFHE |sm+r vk R05.01.01 | R06.01.01 | %
Al 6| 1| 1] 6| EE (REGIFT) £ R06 54 | R11.12.31 | BEZE [swsrrxor| R06.01.01 | R0O7.01.01 |  #%
A6 1|20 (22 b0RF5EE S48 P R04 54 | R9.12.31 | BEZE [wm*rexob| R04.01.01 | R05.01.01 | #K
Al 6] 1] 2] 0 (2G04 6 H - BRiE RO5 54 | R10.12.31 | BEZE |[smsrrxob| R05.01.01 | R06.01.01 |  #%
A6 1|21 (AL a0 P RO4 54| R9.12.31 | BEZE [mwisveiob| R04.01.01 [ R05.01.01 | #&%
Al6] 1] 2] 1 |[ZimiEDE K B RO5 54 | R10.12.31 | BEZE [ms+exok| R05.01.01 | R06.01.01 | &%
Al6] 1] 2] 1 |ZmiEDE K S B R0O6 54 | R11.12.31 | BEZE [mis+exok| R06.01.01 [ RO7.01.01 | #&%
Al 6] 1| 2] 3 |EFFEftE (%) & R0O2 54E | R7.12.31 | BEZE [msvrxor| R02.01.01 | R03.01.01 | #%
Al 6] 1| 2| 3 |EI7FEfFE (1) #& RO3 54 | R8.12.31 | BEZE |mmsrexor| R03.01.01 | R04.01.01 | #¢
Al 6] 1| 2] 3 |EFFEftE (%) & RO4 54E | R9.12.31 | BEZE [msvrxob| R04.01.01 | R05.01.01 | #%
Al 6] 1] 2] 3 |EIFFsflE () & RO5 54 | R10.12.31 | BEZE [mmsrexok| R05.01.01 | R06.01.01 | %
Al 6] 1] 2] 3 |EIFFsflE () & RO6 54 | R11.12.31 | BEZE [mmsrexok| R06.01.01 | RO7.01.01 | &
Al6]2]0]| 1 [zemiEDERFM#E (RBUIRT) HO1 30 4E [ R13.12.31 | BEZE (A H14.01.01 | &%
Al6]2]0]| 1 [zemiEDERFMHHE (RBUIRT) H02 30 £ [ R13.12.31 | BEZE (A H14.01.01 | &
Al6]2]0]| 1 [zemiEDERFMHHE (RBUIRT) H03 30 £ [ R13.12.31 | BEZE (A H14.01.01 | &
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) T AN BN ey RO e | 720 | RO RS
Al6[2[0[1 [s2miEmER F-E (G EIRT) H25 30 4 | R25.12.31 | BEZE [momrrsob| H25.01.01 | H26.01.01 |  #E
Al6[2[0[1 [z2miEmER F-E (CmEIRT) H26 30 4 | R26.12.31 | BEZE [momvrsob| H26.01.01 | H27.01.01 | #E
Al6[2[0[1 [z2miEmER F-E (CmEIRT) H27 30 4 | R27.12.31 | BEZE [momrrsob| H27.01.01 | H28.01.01 |  #E
Al6[2[0[1 [z2miEmER - (CmEIRT) H28 30 4F | R28.12.31 | BEZE [momvrsob| H28.01.01 | H29.01.01 |  #E
Al6[2[0[1 [s2miEmER F-E (G EIR) H29 30 4 | R29.12.31 | BEZE [momrrsob| H29.01.01 | H30.01.01 |  #E
Al6[2[0[1 [s2miEmER F-E (G EIRT) H30 30 4£ [ R30.12.31 | BEZE |mmx+rxor| H30.01.01 | H31.01.01 | #%
Al6[2[0[1 [z2miEmER F-E (G EIRT) RO1 30 4£ | R31.12.31 | BEZE |mmx+rxor| H31.01.01 | R02.01.01 |  #%
Al6[2[0[1 [s2miEmER F-E (G EIRT) RO2 30 4£ | R32.12.31 | BEZE |mmx+rxor| R02.01.01 | R03.01.01 |  #%
Al 6] 2] 0] 1|58 ETENFE (B ERF) RO3 30 4£ [ R33.12.31 | BEZE |mmx+rxor| R03.01.01 | R04.01.01 |  #%
Al6[2[0[1 [s2miEmER F-E (G EIRT) R04 30 4£ | R34.12.31 | BEZE |mmx+rxor| R04.01.01 | R05.01.01 | #%
Al6]2]0]| 1 [semiEDERFMHHE (BUIRT) R0O5 30 4 | R35.12.31 | BEZE |mm=viiok| R05.01.01 | R06.01.01 [ #&
Al6]2]0]| 1 [semiEDERFMHE (LBUIRT) R06 30 4 | R36.12.31 | BEZE |mm=veiok| R06.01.01 | RO7.01.01 [ #&
Al 6| 2]0] 6 (18R B Lk R02 54 | R7.12.31 | BEZE |mmsrexor| R02.01.01 | R03.01.01 |  #¢
Al 6| 2]0] 6 |:BRZGHE B ek iE RO3 54E | R8.12.31 | BE=E |mw+eivk| R03.01.01 | R04.01.01 | %
Al 6] 20| 6 (1B R e ek iE R04 54E | R9.12.31 | BE=ZE |mws+eiok| R04.01.01 | R05.01.01 | %
Al 6]2]0][6 1Bz R e ek iE R05 54F | R10.12.31 | BE=ZE |mws+cxvk| R05.01.01 | R06.01.01 | &
Al 6] 2| 0] 6 [1E)R = B B Rr sk i R06 54 | R11.12.31 | BEZE [mwm*rexob| R06.01.01 | RO7.01.01 | #K
Al 62|07 [l s F R0O2 54 | R7.12.31 | BEZE [mm=rexor| R02.01.01 | R03.01.01 | #%
Al 62|07 |4fglsot Ei% RO3 54 | R8.12.31 | BEZE [mm=rexor| R03.01.01 | R04.01.01 | #%
Al6[2(0|7 [Pl Ehk R04 54| R9.12.31 | BEZE [mmsrexok| R0O4.01.01 | RO5.01.01 | &
Al6[2(0|7 [Pl Ehk RO5 54 | R10.12.31 | BEZE [mmsrexok| R05.01.01 | R06.01.01 | %




Al 62|07 ¥ F s E R06 54 | R11.12.31 | BEZFE |mix+exor| R06.01.01 | RO7.01.01 [ &
Al6[2]0] 8 [FFsLBRIRILZR R02 54F | R7.12.31 | BE#E |mwssrciok| R02.01.01 | R03.01.01 | %
Al 6|2[0] 8| HSLERIRILFR RO3 54 | R8.12.31 | BEZE |mm=+exsk| R03.01.01 | R0O4.01.01 | %%
Al6]2]0]| 8 [l lLBLIR LR R04 54| R9.12.31 | BEZE |mm=+exsk| R04.01.01 | RO5.01.01 | #&%
Al 6]2]0]|8 [ Bk & RO5 5 4F | R10.12.31 | BE=E s+ iok| R05.01.01 | R06.01.01 | %
Al6[2]0] 8 [iFFBLBRIRHLFR R06 54 | R11.12.31 | BEZE |mms+exor| R06.01.01 | RO7.01.01 |  #¢
Al6|2]1]0 IR PR Fa4E - JLFE & (FEsRE1R) HO4 30 4F | R13.12.31 | BEEE |smsre ik H14.01.01 | &
Al6|2]1]0[0IRFIZ PR b 4E - ALFE i (FEsRE1R) HO05 30 4F | R13.12.31 | BEIE |smsre ok H14.01.01 | &
Al6|2]1]0[LIRFIZ PR Fa4E - ALFE & (FEs RE1R) HO06 30 4F | R13.12.31 | BEEE |smsre ok H14.01.01 | &
Al6|2]1]0 LI PR Fa4E - JLFE 8 (FEsRE1R) HO7 30 4F | R13.12.31 | BEIE |smsre ok H14.01.01 | &
Al 6] 2| 1]0AE3RF sz B 154 - LRI (Fk BAFR) HO8 30 4F | R13.12.31 | BEEE |mmsre ik H14.01.01 | &
Al 6] 2| 1]0FE3RF sz B - 154 - LRI (F ke BAFR) HO09 30 4F | R13.12.31 | BEEE |smsre ik H14.01.01 | &
Al 6] 2| 1]0L3RF sz B - 1o - LRI (F ke BAFR) H10 30 4F | R13.12.31 | BEEE |mmsre ik H14.01.01 | &
Al 6] 2| 1]0EIRF sz B FE4H - LRI (F ke BAFR) H11 30 4F | R13.12.31 | BEEE |mmsre ik H14.01.01 | &
Al 6] 2| 1]0L3RF sz B 154 - LRI (F ke BAFR) H12 30 4F | R13.12.31 | BEEE |mmsre ok H14.01.01 | &
Al 6] 2| 1]0AL3RF sz B - 1o - LRI (F ke BAFR) H13 30 4F | R13.12.31 | BEEE |mmsre ok H14.01.01 | &
A6 210 [ALITRF{zH- FEfE - PR (Fi BALR) H14 30 4F | R14.12.31 | BEZE [momserrob H15.01.01 | &%
A6 210 [ALIRF{zH- FE4E - AP (Fi BAGR) H15 30 4F | R15.12.31 | BEZE [momeerriob H16.01.01 | %
A6 210 [ALIRF{zH- FE4E - AP (Fi BAGR) H16 30 4F | R16.12.31 | BEZE [momserrdob H17.01.01 | &
Al6]2] 1|0 [ALIRTIEZ B - o - AL (G BIER) H17 30 4F | R17.12.31 | BEFE [momsviixon H18.01.01 [ &%
Al6]2] 1|0 [ALIRTIEZ B - o - AL (G BIER) H18 30 4F | R18.12.31 | BEFE |[momsvixon H19.01.01 [ #%




Al6]2 0 |JLIR sz L - FiRfi - AL PR (Sl BAAR) H19 30 4 | R19.12.31 FUESSSE SN H20.01.01 | &
Al6]2 0 |JLIR sz L - FiRfi - AL PR (St BAAR) H20 30 4 | R20.12.31 FUESSSE SN H21.01.01 | &
Al6]2 0 |JLIR sz L - FiRfil - AL PR (Sl BAAR) H21 30 4 | R21.12.31 FUESSSE SN H22.01.01 | &
Al6]2 0 |JLIR sz L - FiRfil - AL PR (Sl BAAR) H22 30 4 | R22.12.31 FUESSSE SN H23.01.01 | &
Al6]2 0 |JRIR sz L - FiR fil - AL PR (Sl BAAR) H23 30 4 | R23.12.31 FUIESSSE SN H24.01.01 | &
Al6]2 0 [JRIR 52 B - FE4 - JL PRI (Ft BAGR) H24 30 4£ | R24.12.31 Bifvexoh| H24.01.01 | H25.01.01 | #%
Al6]2 0 [JLIB P52 B - FE4 - JL PRI (St BAGR) H25 30 4 | R25.12.31 Bifvexoh| H25.01.01 | H26.01.01 | #%
Al6]2 0 [JLIB 32 B - FE4 - JL PRI (St BAGR) H26 30 4 | R26.12.31 Bifvexoh| H26.01.01 | H27.01.01 | #%
Al6]2 0 [JRIR 52 B - FE4 - JL PRI (St BAGR) H27 30 4 [ R27.12.31 Bifvexoh| H27.01.01 | H28.01.01 | #%
Al6]2 0 [JLIR 52 B - FE4 - JL PRI (St BAGR) H28 30 4 | R28.12.31 Brfvexoh| H28.01.01 | H29.01.01 | #%
Al6|2 0 |JLIR =2 B - FE - L PR (SR RE1%R) H29 30 4F | R29.12.31 | BEZFE |smsrexok| H29.01.01 | H30.01.01 | %
Al6|2 0 |JLIR =2 B - FEe - L PR (SR RE1%R) H30 30 4F | R30.12.31 | PEFE |smsvexok| H30.01.01 | H31.01.01 | %
Al6|2 0 |JLIR =2 B - PR - L PR (SR RE1%R) RO1 30 4F | R31.12.31 | BEFE |smsrexok| H31.01.01 | R02.01.01 | %
Al6|2 0 |JLIR =2 B - PR - L PR (SR RE1%R) R02 30 4F | R32.12.31 | PEFE |smsrexok| R02.01.01 | R03.01.01 | %
Al6]2 0 |JLIR =2 B - FE - L PR (SR RE1%R) RO3 30 4F | R33.12.31 | BEFE |smsrexok| R03.01.01 | R04.01.01 | %
Al6|2 0 |JLIR =2 B - FE e - L PR (SR RE1%R) R04 30 4F | R34.12.31 | PEFE |smsvexok| R04.01.01 | R05.01.01 | %
A6 210 [ALITRF{zH- FEfE - PR (Fi BALR) R05 30 4F | R35.12.31 | BEsE |mm=+exor]| R05.01.01 | R06.01.01 | #%
A6 210 [ALIRF{zH- FE4E - AP (Fi BAGR) R06 30 4F | R36.12.31 | BEsE |mm=vexor]| R06.01.01 | RO7.01.01 | #%
Al6]2 AR FHL AR L HO04 30 4 | R13.12.31 | BEHE |mmsvesob H14.01.01 | %%
Al6|2 A S LB I HO09 30 4E | R13.12.31 | BEZE |misrrexob H14.01.01 | %
Al6]2 A2 30 AL LR 2R H10 30 4F | R13.12.31 | BEHE |mmsviexob 114.01.01 | &




) T AN BN peng | LE e | 2 |
Al6|2 A1 F B L BRI 2R H11 30 4F | R13.12.31 | BEFE | soh H14.01.01
Al6|2 AR 10 F B L BRI 3R H12 30 4F | R13.12.31 | BEFE | soh H14.01.01
Al6|2 G NG UBLIN NI H13 30 4F | R13.12.31 | BEFE |l soh H14.01.01
Al6|2 AR08 F B L BRI 2R H14 30 4F | R14.12.31 | BEIE | soh H15.01.01
Al6|2 A1 F B L BRI 2R H15 30 4F | R15.12.31 | BEIE | soh H16.01.01
Al6]2 A3 H B L BRI 2R H16 30 4F | R16.12.31 | BEEE |smsre ok H17.01.01
Al6]2 AR 18 F B L BRI 2R H17 30 4F | R17.12.31 | BEEE |smsre ik H18.01.01
Al6]2 A3 H B L BRI 2R H18 30 4F | R18.12.31 | BEEE |smsre ik H19.01.01
Al6]2 A3 F B L BRI 2R H19 30 4F | R19.12.31 | BEEE |smsre ik H20.01.01
Al6]2 A3 H B L BRI 2R H20 30 4F | R20.12.31 | BEEE |smsre ok H21.01.01
Al6]2 AR I8 F AL BRI 2 H21 30 4F | R21.12.31 | PEEE |mmsre ik H22.01.01
Al6]2 AR 38 F AL BRI 2% H22 30 4F | R22.12.31 | BEEE |mmsrre ik H23.01.01
Al6]2 A1 F AL BRI 2 H23 30 4F | R23.12.31 | BEEE |mmsre ok H24.01.01
Al6]2 LG QU NINITE S H24 30 4F | R24.12.31 | BEFE |momsvexor| H24.01.01 | H25.01.01
Al6]2 PSR QU NINITE S H25 30 4F | R25.12.31 | BEZE |momsvexor| H25.01.01 | H26.01.01
Al6]2 PSR QU NINITE S H26 30 4F | R26.12.31 | BEZE |momsvexor| H26.01.01 | H27.01.01
Al6|2 AR L BRI 2 H27 30 4F | R27.12.31 | BEZE |smsvexoh| H27.01.01 | H28.01.01
Al6|2 AR L BRI 2 H28 30 4F | R28.12.31 | BEZE |smsvrxoh| H28.01.01 | H29.01.01
Al6|2 AR L BRI 2 H29 30 4F | R29.12.31 | BEZE |smsvexoh| H29.01.01 | H30.01.01
Al6]2 A SRR H30 30 4F | R30.12.31 | BEZE |mmvexor| H30.01.01 | H31.01.01
Al6]2 A SRR RO1 30 4F | R31.12.31 | BEFE |mom=vexor| H31.01.01 | R02.01.01




Al 62| 1] 1|z s HIR L R02 30 4E | R32.12.31 | FE#E |mmx+rxok| R02.01.01 | R03.01.01 | %%
Al6| 2] 1|1 |22 gEl s R & RO3 30 4E | R33.12.31 | FE#E |smx+rxok| R03.01.01 | R04.01.01 | %%
Al 62| 1] 1|z s HIR L RO4 30 4E | R34.12.31 | FE#E |smx+rxok| R04.01.01 | R05.01.01 | %%
Al6| 2| 1] 1|z s HIR I R05 30 4E | R35.12.31 | FE#E |smx+rxok| R05.01.01 | R06.01.01 | %%
Al6[2] 1] 1 [ZRiBFHSLIRR DR R06 30 4E | R36.12.31 | FE#E |smx+rxok| R06.01.01 | RO7.01.01 | %%
Al6|2|2]6RIIRNAHEEI—TR H27 10 48 | R7.12.31 | FEZE [mwsvexor| H27.01.01 | H28.01.01 | %%
Al6|2|2]6REIRNAHEE—TER H28 10 48 | R8.12.31 | FEEE [mwsvexor| H28.01.01 | H29.01.01 | %%
Al6|2|2]6RIIRNHEE—TER H29 10 4 | R9.12.31 | pe#E [mmx~exor| H29.01.01 | H30.01.01 | %
Al6|2|2]6REIRNAHEEI—TER H30 10 48 | R10.12.31 | FEZE [mwsvexor| H30.01.01 | H31.01.01 | %%
Al6|2|2]6[RIIRNHEEI—FER RO1 10 48 | R11.12.31 | FEZE [mwsvexor| H31.01.01 | R0O2.01.01 | %%
Al6]2]2]6 [RIIARLBE S —FE RO2 10 4 | R12.12.31 | BEZE [wi=veiokf R02.01.01 [ R03.01.01 [ K
Al6|2|2]6|REIRAHEEMF—RER RO3 10 4 | R13.12.31 | BEZE [wixrexob| R03.01.01 | R04.01.01 | #K
Al6|2|2]6RIIRMHE|—TER R04 10 4E | R14.12.31 | FE=E [mmxvexok| R04.01.01 | R0O5.01.01 | &
Al6]2]2]6 [RIIARLBEFM—FE RO5 10 4% | R15.12.31 | BEZE [wixveiokf R05.01.01 [ R06.01.01 [ K
Al6]2]2]6 [RIPIARLBEFM—FE RO6 10 4 | R16.12.31 | BEZE [mwixrexob| R06.01.01 | RO7.01.01 | #K
Al 62| 2]7[OERiFFEIHE R RO4 10 4 | R14.12.31 | BEZE [wixrexob| R04.01.01 | R05.01.01 |  #K
Al 6] 2] 2|7 (O F-E HE RO5 10 4% | R15.12.31 | BEZE [miixveiokf R05.01.01 [ R06.01.01 [ K
Al 6| 2| 2] 7[OxRiFFEAEHEE R06 10 45 | R16.12.31 | pE#E |mmsrexor| R06.01.01 | RO7.01.01 | %%
Al6|2]2]|8 | NEFHEFURE R04 54E | R9.12.31 | BEZFE |mmvtxor| R04.01.01 | R05.01.01 | #%
Al 6| 2| 2|8 NEFHBURE RO5 5 4F | R10.12.31 | BEZFE |mwx+exvk| R05.01.01 | R06.01.01 | &
Al 6| 2| 2] 8 NEFHBURE RO6 54 | R11.12.31 | BEZE [msrexok[ R06.01.01 [ RO7.01.01 | &K
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TTANA e TH | ok fERR | ORE R
Al6]3]0] 1 [EEBRELREE R04 34F | R7.12.31 | BEZE |mwerveixob| R04.01.01 | R05.01.01
Al6]3]0]| 1 [EEBRELREE R0O5 3 4F | R08.12.31 | BEZE B+ xvk| R05.01.01 | R06.01.01
Al6]3]0]| 1 [EEBRELREE R06 34FE | R9.12.31 | BEZE |mwerveixok| R06.01.01 | RO7.01.01
Al6l4|o] 1 [ForrExr’—FA—2— Lkt R0O2 54 | R7.12.31 | BEZE |mms+exor| R02.01.01 | R03.01.01
Al6l4]| 0|1 |FoarAA —R A—2— Sfaidk RO3 54 | R8.12.31 | BEZE |mmz+exor| R03.01.01 | R04.01.01
Al6l4|o] 1 [ForrExr’—FA—2— kit RO4 54F | R9.12.31 | BE#E |mmar+riok| R04.01.01 | R05.01.01
Al6l4|o] 1 [ForrExr’—FA—2— kit RO5 5 4F | R10.12.31 | BE#E |mmar+riok| R05.01.01 | R06.01.01
Al6l4|o] 1 [ForrExr’—FA—2— kit R06 54F | R11.12.31 | BE#E |mmar+riok| R06.01.01 | R0O7.01.01
Al 6] 4| 0] 4 (228 HuHE & ae b A R R04 54 | R9.12.31 | BFEZE [mm=rexob| R04.01.01 | R05.01.01
Al 6[4]0] 4 |22mEk & b i AR R % R05 5 4F | R10.12.30 | BE#E |mmar+riok| R05.01.01 | R06.01.01
Al 6] 4| 0] 4 (228 HuH & we b Al R 6 RO6 54 | R11.12.31 | BEZE [mm=rexob| R06.01.01 | R07.01.01
Al6]4]0| 7|72 XRER % ETR R04 54 | R9.12.31 | BEZE |mmx+rsor| R04.01.01 | R05.01.01
Al6]4]0| 7|72 XRER % ETR R05 54 | R10.12.31 | FEZE |mmx+rxor| R05.01.01 | R06.01.01
Al6]4]0| 7|72 XRER % ETR R06 54 | R11.12.31 | FgEZE |mmx+rsor| R06.01.01 | RO7.01.01
A[6]5]0]| 1 (k- S48t 1 PR R04 34| R7.12.31 | BEZE |mfxveaob| R04.01.01 | R05.01.01
Al[6]5]0]| 1 (k- sz 45 gl - PR RO5 34E | R08.12.31 | BEZE |mfxveisk| R05.01.01 | R06.01.01
A[6]5]0]| 1 (Fhlik- 524535t 1k BAAR K R06 34 | R9.12.31 | BEZE |smvexor| R06.01.01 | R07.01.01
Al 65|02 [FHBhIL st SR & RO4 34| R7.12.31 | BEZE |mfxveiob| R04.01.01 | R05.01.01
Al 65|02 [FHBhL st SR E RO5 34E | R08.12.31 | BEZE |mxveiok| R05.01.01 | R06.01.01
Al 90|01 | ERL MR RO3 |semomers 3 4E | R6.12.31 | BEZEE [mms+rixor| R03.01.01 | R04.01.01
A[9]0] 0| 1 [ELLEHRAHEE RO4 |semomers 3 4R | R7.12.31 | BEZEE [mms+rixor| R04.01.01 | R05.01.01




) T AN BN ey RO e | 720 | RO RS
A[9]0] 0| 1 [EEL e HRAHEE RO5 |sewomens 3 4E [ R8.12.31 | BEFE [momx+exoh| R05.01.01 | R06.01.01 |  #%
A9 0| 0] 1 [ELE LML E RO6 |seiioseEns 3 45 | R9.12.31 | BEZE [misreiob| R06.01.01 | R0O7.01.01 | #&
A8 1|13 (BT i 52 i 74 R04 34E | R7.12.31 | BEZE [sowsrrxob| R04.01.01 | R05.01.01 | #%
A8 1|13 (BT e 52 i 74 R05 34 [ R08.12.31 | BEZE |mmsrexor| R05.01.01 | R06.01.01 [ #%
A8 1|13 (BT i 52 i 74 R06 34E | R9.12.31 | BEZEE [mowsrrxob| R06.01.01 | RO7.01.01 |  #%
®[ 16|01 |Ea081TH M BEERFR R04 10 4F | R14.12.31 | BEZE |smsvexor| R04.01.01 | R05.01.01 | #%
®[ 16|01 |Ea081TH Ml BEIERER RO5 10 4 | R15.12.31 | BEZE |mms+eiok| R05.01.01 [ R06.01.01 | &
®[ 16|01 |Ea0E1TH M BEERER R06 10 4 | R16.12.31 | BEZE |mm=+exok| R06.01.01 [ RO7.01.01 | &
®| 16|02 |[EEfreasmiE R04 10 4E | R14.12.31 | BEZE |mms+exok| R04.01.01 [ R05.01.01 | #&%
®| 16|02 |[EEfreasmiE RO5 10 4E | R15.12.31 | BEZE |mms+exok| R05.01.01 [ R06.01.01 | %
®| 16|02 |[EEfreasmiE R0O6 10 4E | R16.12.31 | BEZE |mms+exob| R06.01.01 [ RO7.01.01 | #&%
T 1| 1] 0|5 | EEEN E B UL L R0O2 54E | R7.12.31 | BEZE [ssvrxob| R02.01.01 | R03.01.01 | #%
T(1[ 1|05 [HELER B B EUHELE & S0 PR RO3 54E | R8.12.31 | BEZEE [msvrxob| R03.01.01 | R04.01.01 | #%
T 1| 1| 0] 5 | EER B &) B L i R04 54E | R9.12.31 | BEZE [msvrxob| R04.01.01 | R05.01.01 | #%
T 1| 1| 0] 5 | EER B &) B L i R0O5 54 | R10.12.31 | BEZE [smsvrxor| R05.01.01 | R06.01.01 |  #%
T 1| 1| 0] 5 | EER B &) B L i R06 54 | R11.12.31 | BEZE [ssvrxor| R06.01.01 | R0O7.01.01 |  #%
TIL1| 1|07 H EMEEAZGOERS 2 RO5 3 4F | R08.12.31 | BEZE [mm=rexob| R05.01.01 | R06.01.01 | #%
T 1| 1[0 7|8 EEEE AT RO6 34 | R9.12.31 | BEZE [mm=rexob| R06.01.01 | RO7.01.01 | #%
T| 1| 1| 0] 8|l RO5 3 4F | R08.12.31 | BEZE [mm=rexob| R05.01.01 | R06.01.01 | #%
T|L| 1| 0] 8|t RO6 34 | R9.12.31 | BEZE [mm=rexob| R06.01.01 | RO7.01.01 | #%
T 1| 1] 4 |EEA—REH R TE RO2 54| R7.12.31 | BEZE [wmsrexskb[ R02.01.01 [ RO3.01.01 | &K




T 1| 1| 1]4|EEF—2EHakkE RO3 54 | R8.12.31 | BEZE [mmsrexor| R03.01.01 | R04.01.01 | #¢
T{L1] 1| L4 ]|BEEA—ERE AR E RO4 54 | R9.12.31 | BEZE [mmsrexor| R04.01.01 | R05.01.01 | #%
T{L1) 1| L4 ]|BEEA—ERE AR RO5 54 | R10.12.31 | BFEZE [mms+exor| R05.01.01 | R06.01.01 | #&
T 1| L4 ]|BEEA—ERE AR R06 54 | R11.12.31 | BEZE |mms+exor| R06.01.01 | RO7.01.01 |  #&
T{1[3]0] 1|2 BmFHEHFT R R04 34| R7.12.31 | BEEE |mxvexor| R04.01.01 | R05.01.01 | %%
TL1] 3]0 1|2 mFHH 2R RO5 34 | R08.12.31 | BEZE [mmrrx-b| R05.01.01 | R06.01.01 | #K
T 13|01 |88 E s 2% R06 34F | R9.12.31 | BEFHE |mmrvrivk| R06.01.01 | RO7.01.01 | %
T 1[4] 0|2 |z @B SR AR RO2 54F | R7.12.31 | BEZE |wirvexobl R02.01.01 | R03.01.01 | #%
T|1[4]0]| 2|z mEHPR AT R RO3 54 | R8.12.31 | BEZE [mwmxrexob| R03.01.01 | R04.01.01 | #K
T[1]4]0]|2 s HHIR b A RO4 54 | R9.12.31 | BEFE [WA=veioh| R04.01.01 | R05.01.01 [ %
T 14|02 |23 dHHPRI S A ZE RO5 5 4F | R10.12.31 | BEZE |mmvrexok| R05.01.01 [ R06.01.01 | %
T{1[4]0]8 &M= H25 30 4F | R25.12.31 | BEIE |pomsrvexor| H25.01.01 | H26.01.01 [ %
T{1]4|0]8|ERKRSHE H26 30 A | R26.12.31 | BEIE |mmsrexok| H26.01.01 | H27.01.01 | &
T{1[4]0]8 &M H27 30 4F | R27.12.31 | BE3E |pomsrvexor| H27.01.01 | H28.01.01 [ %
T{1[4]0]8 &M H28 30 4F | R28.12.31 | BEIE |pomsrvexor| H28.01.01 | H29.01.01 [ %
T{1]4|0]8|ERKRSHE H29 30 A | R29.12.31 | BEZE |mmsrexok H29.01.01 | H30.01.01 | %
T]L]4]0]8|=F A H30 30 4 | R30.12.31 | BEHE |momrvesok| H30.01.01 | H31.01.01 | %
T]L]4]0]8|=F A RO1 30 4F | R31.12.31 | BEHE |momrvesok| H31.01.01 | RO2.01.01 | 48
T]L]4]0]8|=F A R02 30 4 | R32.12.31 | BEHE |mmrresok| RO2.01.01 | RO3.01.01 | 4%
T 1[4]0]8|ERMRHR R03 30 4 | R33.12.31 | BEHE |smrresok| R0O3.01.01 | RO4.01.O1 | 4%
T 1] 4] O] 8|ESRMR#R RO4 30 4 | R34.12.31 | BEgE [mmeresor| R04.01.01 | RO5.01.01 | 4%




- TERK PRAT-HA I | G T 1% oo | 7 | BRI | B RO

0 7T AN g | A TR |owE| R wwn | oren |

1 B RS RO5 30 4F | R35.12.31 | BEZE |mmx+vexob| R05.01.01 | R06.01.01 R
B RS R06 30 4F | R36.12.31 | BEZE |mmx+vexob| R06.01.01 | R07.01.01 R




